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�������
�� !��	 �� ��� ����
��� ��	�� �� ��"
��������� ���
����
�� ��	 ���
�
"
�� �� � � ����
#
�
�� �� ���� 
� � 
� ���� �� � ��� $��	����

����
����� ��������	������ ���� �� ����� �
�"���
 �����
�� ��� ��
	
��
�� 
� ����	 �� ������� % ��� �
"
�� �� ������ � � #��� �������
��� ��� ��
���#���� ��	 ��� #�
�� � ��� ��� �� 
� � � #�	 ���
�	��

� ����	 �
�� �� � ��� � � &���
���� �� � � � ��� ��������� �� � �
	��������� �� '�	����
��% ������ �
��� ��	 ��"
��������� ���
����
�� (
���� �� � � )�
"���
�� �� *����� ��	��
�� 

 ��	% 
� � ����
�� ���% � �
&���	
����� �� � � � � �� ��������� ����� ������ ����
 ���
�% ��� �����"(

�� �� ������
���
��� 
� �������� ���
���� ��	 
�������
���� ������� ��	
������������

+��� � ���� �� ,�	�"
�� ��� 
����	��
�� �� �� � � ��#������
�� ��	
����
����� ��������� �� ���� -,�#������� �� ��"
��������� ������
� ��	
������� . �� �����

� �� ���� �������� �� �� �������� �����
�% ���"
�% /��
��% /�0����% ,���%
��	 +��
� /����
� ���  ���
�� �� 
� ��� �
���������
�� � ���	�

+� 	������ ������������ �� �� ������� ���1���� -��� ��. ��	 *�"
��
-��� ��.% ��� ���� ��� � � 
�!�
�� ��"� ��	 
�����
"� 	��
�� ��� ����� �� ��
�
��% #�� ���� ��� ���
�� �� � � ��� � �� � ��� 2 ���� �� �� �
���� ������
��� ��� ���
"��
�� ��	 ������
��� 
��

�� � ��� �		 3��� ��� ���� �
��% � ����	 �
�� �� ��������	��  �� � �
������
��� 
� ��	 ��"� �� +��
� �
������ /��� 	
��#���
� ��� 
��������
��� ��� 4��� �
�� �� �
"� ��	 �����
�� ����� �� ����
��  �� ��������� � ���
��  �"� ������ ���� � �� ������	�	 �� #��
�"� � �� ��� ���� �� ��� ��������
� �� �"���
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�
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5�5 �
��
���
� �� ������#
� 	����	��
�� ��������� � � � � � � � � � 6
5�7 ��"
��������� ������� �0���
�� ������#
� 	����	��
�� ��������� 8

� ����	������ ��

7�5 +����
��� ��	 ��� �	� � � � � � � � � � � � � � � � � � � � � � � 55
7�5�5 �+� ����� ��� �	����� � � � � � � � � � � � � � � � � � 55
7�5�7 �+� ����� ��� �� ��	 ������
�� � � � � � � � � � � � � � 59
7�5�9 ������
��� ������������ � � � � � � � � � � � � � � � � � 5:

7�7 ������#
� �
����
�� �� ���� ��#������� � � � � � � � � � � � � � 56
7�7�5 +����� ;���� ������#
� 	
����
�� � � � � � � � � � � � � 56
7�7�7 <����
� ���
	 ;���� ������#
� 	
����
�� � � � � � � � � 7=

7�9 ������#
� ��(	
����
�� � � � � � � � � � � � � � � � � � � � � � � 77
7�9�5 ��0��� ������ ��	 <����
� ���
	 ����� ��(	
����
�� � 77
7�9�7 <�+$; ��	 ������ ���	�� ��(	
����
�� � � � � � � � � 7>

� ���������
�� �
������� 
� ��
�
��
�� ����	
��
 �	

����� ��

9�5 �����	���
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � 9=
9�7 +�� ����
��� ��	���
�� �� ������#
�

	
����
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 95
9�7�5 +�� ����
��� ��	��� �������	 #����� � � ��+5 � � � 95
9�7�7 +�� ����
��� ��	��� #���	 �� � � ��+5

������� � � � � � � � � � � � � � � � � � � � � � � � � � � 99
9�9 +�� ����
��� ��	���
�� �� #
����
���

������#
� ��(	
����
�� � � � � � � � � � � � � � � � � � � � � � � 9:

���



�������� �?

9�9�5 +�� ����
��� ��	��� �������	 #����� � � ��+5 � � � 9:
9�9�7 +�� ����
��� ��	��� #���	 �� � � ��+5

������� � � � � � � � � � � � � � � � � � � � � � � � � � � 9>
9�9�9 +�� ����
��� ��	��� ��� #���	 �� � � ��+5 ������� 96

� ���������
�� �
��� 
� ��������� �	
!�� ����	
��
 �"����� �#

:�5 +�� ����
��� ��	���
�� �� ��(	
����
�� �� <�+$; ��	 $$ � � 98
:�7 *����
��� ������� � � � � � � � � � � � � � � � � � � � � � � � � � :7

:�7�5 ��������� "����� ���	 ��� � � �
�����
��� � � � � � � � :7
:�7�7 �0��� �� � � <�+$; ����
��� �
�� �� � � 	
������ ���(

��������� � � � � � � � � � � � � � � � � � � � � � � � � � :9
:�7�9 �0��� �� � � <�+$; <,/ �� � � 	
������ ������������ :>
:�7�: ��!�
�
�� �� ���
��� <�+$; ����
��� �
�� ��	 <,/

���	
�
��� � � � � � � � � � � � � � � � � � � � � � � � � � :6
:�9 �������	 ���
#���
�� ��	 "��
	��
�� �����	��� � � � � � � � � � :@
:�: &��
#���
�� ��	 "��
	��
�� �� <�+$($����� ���	�� ��(	
����
�� >=
:�> &��
#���
�� ��	 "��
	��
�� �� <�+$(��0��� ������ ��(	
����
�� >:
:�A �����
� ��� ����
��� ��	���
�� �� ������� ��	��
�� ���(�
��

�������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � >A
:�A�5 �����	���
�� � � � � � � � � � � � � � � � � � � � � � � � � >A
:�A�7 +�� ����
��� ��	�� � � � � � � � � � � � � � � � � � � � >6
:�A�9 +�	�� ���
#���
�� � � � � � � � � � � � � � � � � � � � � � A=
:�A�: +�	�� ?��
	��
�� � � � � � � � � � � � � � � � � � � � � � A9
:�A�> ?��
	��
�� �� � � 	��
�� ��	�� �������	 #� �����
��

�� ��� -7==8. � � � � � � � � � � � � � � � � � � � � � � � � AA
:�A�A �0��� �� � � '/2 �� � � ���(�
�� �������

������������ � � � � � � � � � � � � � � � � � � � � � � � 6=

$ ���������
�� �
������ 
� ����
��� �	
!�� ����	
��
 �"� 

���� ��

>�5 �����	���
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � 6:
>�7 5� +�	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 6A

>�7�5 �������� ������ � � � � � � � � � � � � � � � � � � � � � � 66
>�7�7 ��
������ ��	 ��
1������ �� �����
��� � � � � � � � � � � 68
>�7�9 �
����� 	���� ���� � � � � � � � � � � � � � � � � � � � @:
>�7�: $�#������� � � � � � � � � � � � � � � � � � � � � � � � � � @A

>�9 ��
�
�� &��� ,���� 
� +���
����
�� �
�!�� ������
�� � � � � � � @@
>�9�5 +�� ����
��� ��	���
�� �� 
�
�
�� ���� ����� � � � � � � � @@
>�9�7 ?������� ������ � � � � � � � � � � � � � � � � � � � � � � 87
>�9�9 $����
�� �� ���� #���	��� ���#��� � � � � � � � � � � � 8:

>�: �
����
��� ������� ��	��
�� #
�!�� � � � � � � � � � � � � � � � � 86



�������� ?

>�:�5 �����	���
�� � � � � � � � � � � � � � � � � � � � � � � � � 86
>�:�7 +�� ����
��� ��	�� � � � � � � � � � � � � � � � � � � � 8@
>�:�9 *����
��� ��� �	� � � � � � � � � � � � � � � � � � � � � 5=5
>�:�: /������ ��	 	
�����
�� � � � � � � � � � � � � � � � � � � 5=7
>�:�> $
�����
�� ��� 5B �0��� �� � � COD/SO2−

4 ���
� ��
� � #
�!�� ������� ����"�� ������������ � � � � � � � � 5=7

>�:�A $
�����
�� ��� 7B �0��� �� �
�����
�� �
�� �� � � #
�!��
������� ����"�� ������������ � � � � � � � � � � � � � � � 5=6

%
�
����
�� ��#

& &''�()�* ���

��5 2�#�� 5� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 555
��7 2�#�� 5� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 557
��9 2�#�� 5& � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 559
��: 2�#�� 7& � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 55:
��> 2�#�� 9& � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 55>

�����
�	���" ��$
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5�5 +�
� $���� ������#
� 	����	��
�� �� �����
� ������ � � � � � 6

7�5 �
���� ����
�� ���� � � � � � � � � � � � � � � � � � � � � � � � 59
7�7 �
���� ����
�� ���� � � � � � � � � � � � � � � � � � � � � � � � 5>
7�9 &������
"� #
�(��� ��� ���	���
�� ���� �+� ����� T1 −−T3 5@
7�: &������
"� #
�(��� ��� ���	���
�� ���� �+� ����� T5 ��	 T6 75
7�> &������
"� #
�(��� ��� ���	���
�� ���� �+� ����� T7 ��	 T8 7:
7�A $��� ��
� �����
� ����� � � � � � � � � � � � � � � � � � � � � � � 7A
7�6 &������
"� #
�(��� ��� ���	���
�� ���� �+� ����� A1;A2;A3 76
7�@ &������
"� #
�(��� ��� ���	���
�� ���� �+� ����� B1;B2;B3 7@
7�8 &������
"� #
�(��� ��� ���	���
�� ���� �+� ����� C1;C2;C3 78

9�5 ���� � ��� �� � � ��	
!�	 "���
�� �� � � ��+5 �������	 #� C5D 9A

:�5 �0��� �� � � <�+$; ����
��� �
�� �� � � �E���� &<� -�.%
��� ��� �������
"� ������
�� -�.% ��� ��� ���	���
�� ����
-&. ��	 �' -�. � � � � � � � � � � � � � � � � � � � � � � � � � � :9

:�7 �0��� �� � � <�+$; �		
�
�� �� � � �E���� &<� -�.%
��� ��� �������
"� ������
�� -�.% ��� ��� ���	���
�� ����
-&.% �' -�.%  �	���������� 
� ��� ������
� ��� �� -�. ��	
����������
� ��� ������
� ��� �� -�. � � � � � � � � � � � � � � :>

:�9 &��#
��	 �0��� �� � � <�+$; ����
��� �
�� ��	 <,/ �� � �
	
����
�� ������������ 
� ����� �� &<� ����"�� �F�
���� (η) :6

:�: &������
"� ��� ��� ���	���
�� �#��
��	 
� � � �����
������
����� A1% B1 ��	 C1� � � � � � � � � � � � � � � � � � � � � � � � >=

:�> �����	���� �� +� �� Ksbk� � � � � � � � � � � � � � � � � � � � >5
:�A &�����
��� �� �������	 ��	 �
������	 #� �������	 ��	��

�������
"� ��� ��� ���	���
�� ��� �����
����� �%� ��	 &B
�"������
�� #������ �������	 ��	 �
������	 	��� -�%� ��	 �.G
������
��� �
� � � �
�� �� ������� !� -#%	 ��	 �.� � � � � � � � >7

?�



���� �	 	�
���� ?��

:�6 &�����
��� �� �������	 ��	 �
������	 #� ��+5 �������
"�
��� ��� ���	���
�� ��� �����
���� �� � � � � � � � � � � � � � >:

:�@ &�����
��� #������ � � �����
������ -��
���. ��	 �
������	
-�
��. #
�(��� ��� ���	���
�� ���� �+� ����� 2> -�.% 2A -#. >>

:�8 &�����
��� #������ �����
������ -��
��� . ��	 �
������	
-�
���. #
�(��� ��� ���	���
�� ���� �+� ����� 25 -�.% 27
-#.% 29 -�. ��	 2: -	. � � � � � � � � � � � � � � � � � � � � � � >>

:�5= $� ����
� �����������
�� �� � � #
����"���
�� ��� ���� 
� � �
��	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � >@

:�55 �����
������ 	��� ���	 ��� ��	�� ���
#���
�� ��	 "��
	��
��
-����B C7D. � � � � � � � � � � � � � � � � � � � � � � � � � � � � � A=

:�57 +��� "���� ��	 ������ ����	��	 	�"
��
�� -σ. �� � � �������
����������
�� 
� � � �����
������ 	��� � � � � � � � � � � � � � A5
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�� ����
��%
�
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��
�� �� ������� ����������� 
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��������� � "��
��
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�� ������� ����������� ��� #�
�� ���� � �
���� ���������
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�� ����#��
� ���������% #�� 	�����
�� � � ����������� �� �
���#
�� ����
��
������� 
��� �������� �� ����
�����% ��� ��������
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� �������� 
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� �����������% 
� ������� � ��� ��� � ��� ���
��� ����� �� ������#
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(
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. ������� 
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� ���	
�
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���	
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�
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�
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#��
�� �#��
� ������#
� 	
����
�� ������� �� �����(� ����� 
�
� ���	
�
�� �
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����������� ��3�� � �� A= &◦� ; 
�� � ��� ����
� ���� ����
���
�� �� ���(
���� 
�
� ������#
� 	
������% ����� 
�
� ��	 � ����� 
�
� ������#
� 	
������
��� �
	��� ���	� +���� 
�
� ������������ ��� �������#�� #������ � � ���(
���� 
� ���� ���#�� ��	 �������#�� � �� � ����� 
�
� ������������� 2 ��(
��� 
�
� ������������ �0�� #����� �
��	�% ������ �
���
��% ��	 �����1������%
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���� ���	���
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	 � �� ��� ��� #
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���	���
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�������� �
���
�� ��� #� ���� ��"����#�� �� � ��(
��� 
�
� ������������% ���
��� ���	
�
��� 	����	 �� � � ���� �� ��#�������
T ����������
�� ��	 #
�	����	�#
�
�� T ��	 � � ���� �� ������ ���	�

�-

2 � �' �
"�� �� 
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���
�� �� ������� ���#
�
��% #������ � �' � ���� �������
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�
#�
� "��
��
��� �� �
���#
�� ����
�� 
�"��"�	 
��� ������#
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����
��
�������� 2 � �' "���� 
� � 	
������ 	����	� ��
��� #� 	
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	� ���#�� 
�
�
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	 � ���%  ���� #�  �� ����
�� �������� 
��� #
����% ��	 #� �����
� ��
	
��	 �����
� ����������
��� ��
� 
�������� �� ���� � ��% �' ��� �
"�� 
����(
���
�� �� ������� 
����#
�
��% #�� �
� 	���� ������� �� � � �0���
"� ����	�
�� �������% #������ �' ����	� 	����	� �� �����
�
�� �� ������� ���� ������%
� � �' ��������  �� ��� ����
�
"
�� 
� � ����(#�0���	 ������C5:D� 2 � �"�����
������#
� ������� ������ �� ���
��� ���� 
� � � �' ����� AT@� ��� � �'
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"
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"
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���� ��������� � ���  
� ���#�� 	
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���� 
��	�1���� ������� ������������ '���"��% � � ���#�� 	
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	� ���(
���� 
� 	����	��� �� �' ��	% �����1������% H������
�� �� �' ��� �0��� � �
��� ������
�
�� �
� ��� 	������
�� ��� ��� ���	���
�� C5AD�

&�.������"/ ��0�	��� �0�
�

2 � ������#
� ��������� 
�H����� � � �����
�
��� 2 � ��
	 ���� ��	���� � �
�����
�
�� ��	 � � ��� ��� ���� 
�������� 
�� 2 � �"����� ������ 
� � �����
��	���
�� 
� �����
�
�� C5>D� �����
�
�� �� 3000÷ 5000 mgCaCO3 ��� �
��� 
�
���
��� ��� � ���#�� 	
����
�� ��������

+1&

���
�� ��
	 ���� � ��� 
� � � ������
�� �� "����
�� ����� ��
	� -?���. � ��
��� ����� ��
	� �
� � ���#�� � �
� �� �
� ���#��� �� �����% ����	 ���� � ���
� �
� ����� ��
	� -
��� ����
� ��
	G �������
� ��
	G #����
� ��
	G "����
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��	 �����
� ��
	.� 2 � ����������
�� �� ?��% ��������	 �� �� �� ����
� ��
	
��� �
��� [mgAc/l]% 	����	 �� � � ���� �� ��#������� ?�� ����������
���
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��� ������#
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�������
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�� �����
�
�� 	�������� 2 � ���
� �� ?��� �� �����
�
�� 
� � ���	 
�	
�����
�� 
���	
�� ��
����� ?���� �� ?��� �� �����
�
�� ���
� ���� �� =%9 �������
���	 ������� �������������
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�	�� �� � � ������#
�
#
�	����	��
�� ������
�� �� 
� 
� � � �����
������ "���� �� � � ���
���
1����
�� �� ��� ��� ���	���	 ��� ���� �� ?$� 2 � �+� 
� �������	 �
� 
� � �+� ����% � 
� ����
��� 
� ������
�� � � #
�(��� ��� �� #
���� ���(
	���	 #� � ����� 1����
�� �� ����� 
� #��� ��	 ������#
� ���	
�
���� 2 �
������� �� � � �+� ���� 
� �
����% �� �����
� ��#������ 
� �
��	 �
� ��
������#
� 
������� 
� 	�!��	 ������
���� ���	
�
���% ��	 � � ��� �"��"�	 
�
1����
!�	 #� � ����
!� ����������� ��� �	� �� �
�������� � ��� ��� 	
0�����
�������� �� 	�!�� � ����	��	 �������� 
� ��	�� �� ��
� �������#�� �������
#�� �� ��� ��� ����	��	
���
��  �� ��� #��� ���� �	�

<�� �� � � ���� �������� �� 	�!�� � ������ �������� ��� �+� ����
��
�
� ���� #��
� ��
	��
��� ��� � ������ �����	��� ��� �
"�� 
� C56D� $���
���	
�� ��� ���� ��#�
� �	 
� �
��������% �
��	 �� �������
�� 	��� ��	 ��� �	�
� �� ��� �������� ���	 #� 	
0����� 
�������
���� ��#������
�� C5@D� 2 � ����
�������
�� �� 	���% ���� 58 ��#������
��% ��� 	��� 
� C58D% �
� � � �
� ��
���"
	
�� �� ������
"� 	���#��� ��� �+� ������� 
� ����� �� ����
!� ��� ���
�
��	 ��	 	����	��
�� ����� �� � �����
�� �� � � �����
������ ���	
�
���
�������	�

��������� ��� �+� ����� � ���	 #� ���"
	�	 ��� � ����� ����
�� �� ���
� ��� ���������� � �� ��� �0��� �
��
!������ � � �����
����� �������% ��� 
�� �����������% �'% ��
��
�� 
�����
��% � ��
��� ��	 � ��
��� � �������
��
��
�� ��#�������% ��#������N
������� -$N�. ���
�� 2���������� �0���� � � #
�(
��� ����
�� ���� ��	 �������  
� �� ������������ 
���� ������� ��� ���
�
��	� 
� � � ����� 	
����
�� �
��� *�"��� ����� � ��� 
�������� �� ������(
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�����	 ����������� C75D �� �� 
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�� -"����� ����
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#
� � �
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"
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�����
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����� ������� ��	
���
�
��� � � ������� #������ ��#������� ��	 �
��������
���� +
�
�� ���
#� ���"
	�	 #� ��"���� ����B ����
�� �������� �� �� 	��� � � �������� ����
� 	�� C56D% ��
�� ��
��
�� ������ #��% ��
�� �� �������� ��
���
�� �������
C7:D $�#������ ����
���� �
�� �0���� �
��
!������ � � �+� ����� CC7>D% C7AD%
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�H������ � � ���
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�����
� ����
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� ���
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� ����"��� �
��� �
��������
��� ��� 	����	�
���� � � ��#������� ������� �� � � �����
� ���
	� �������� $�#������N
����(
��� -$N�. ���
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�H������ � � ����������� �� �+� ������ �����	
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� $N� ���
� ����
�� #������ =�> ��	 7�9 �?$N�?$ ��� ���"��� ��
	
!���
��
� �������� �����#
�
�� 
� � � ������#
� �������% ��� ��  
� &<� �������

� � � �E���� ��	 "����
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	� -?���. ���������
��% ������ �
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����
�
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� �� 
�"���� �������
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2 � �����
������ ����� ��������� � � ���� �������� ����� �� ����"� ��� � ���
	��#�� � �� ��
��  ����� � � ���� ����#�
� ���� �� � � ������#
� 	
����
�� ��
� � ��"
����������� ��	 ������
����� ���� ���"��
��� ��	  ������ �������
�� ����� �����
� ���
	�� ����� ��� �"�
��#�� �����
������ ��� �	�% � � #
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��� ��� ������
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��� � ���� �� � �
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�
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��� ��	 
� #��� �����%
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�� � � ���
��� ������ �� #
���� �� #
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�
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�
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����
�� ������� �� ����� �����
� ������� �+� ���� ��(
��� �� 
����"� ��� ������	�� �#��� � � #
�	����	�#
�
�� �� � � ��#������

�"���
����	% � � �����
"� ����
!� ���� �� #
�(��� ����
��% � � � �����
���
���	���
�� �� #
�(��� ��� ��	 � � 	
�
�������
�� ������� �
���
���

2 ��� ����� ���� ���	����	 ��
�� �
� �� ���� ��#������� �� � �
����� ��
��� ��#������� 
� ��	�� �� 
�"���
���� ���� � � �0��� � �� � � ���#
���
�� ��



�� �����
 ���� 5:

	
0����� �����
� ������  �� �� � � 	
����
�� ������� -��(	
����
��.� ��	��	
�����	
�� �� ������ ���	
�� C96% 9@% 98% :=% :5% :7D% � � ���������� ��������

� � � ���� ������#
� ������� �� 	
0����� �����
� ������ ��� 
����"� � �
����������� �� � � 	
����
�� �������� 2 � ��(	
����
�� �� 	
0����� �����
�
��#�������  �� #��� ���	
�	 	��
�� � � ���� 5=(5> ����� ��	 � � �������  �"�
� ���	 � ������
� �0��� �� � � ���#
��	 ��������� �� � � #
�	����	�#
�
��
�� � � ������
�� �
����� ���  
� �� � �� � � #
�	����	�#
�
�� �� � � �
����
��#������� � �� 
�"���
����	 ����������� �� ����
�����% � � ���#
���
�� ��
	
0����� ��#������� �
� ������ ����������� �� ��� �����
�� ��� ������ 
� � �
���	���
�� �� � �
����� �
� � &��#��B*
������ -&B*. ���
� 
����	�	 
� � �
���
��� ����� 20 : 1÷ 30 : 1 C:9D�

��������� ������� ���� �#��
��	 �
� �����	 �� � � &��#��B� ��� �����
-&B�. ���
�� 2 ������� � � �#�"�(�
��	 
����"����� �� � � #
�	����	�#
�
��
� �������
��
�� �� � � ���
	 �
����� 
� ��#�����
���� 	�� �� � � &B*B� ���
�
�	3�������� ���� �� #���!�� �� � � ��(	
����
�� ���  
� �� #
���� ��	 ������
���	���
�� C::D ��	 � � 	������� �� � � ������ �� ���
	 ����� �� #� 	
�����	
	�� �� � � ���
!���
�� �� �  
� �� ���������� �� � � ��#�������

��� �+�% �������	 
� � 
� ����% ���� ��� ��������	 ��	�� ���������	
��	 �����	��
#�� ���	
�
��� 
� � 5=== �, ����� #����� �, :> -$� ��� �����%
�������. 7�5� ��� #����� ��� ����
���� !���	 �
� 
������� ��	 � ��#������%
�����	
�� �� � ���
� �1��� �� 7 #������ � �
� ?$ �������G ��� ����� ��� �		�	
�� �� � >== �, ����� "������ $���� ������� �� Na2CO3 ���	��% ����
��
���� =�5= �� =�A= �% ���� ���� �		�	 -2�#�� 7�7 ��	 7�:. �� ���"��� ��
�
���
	���� 
� �'� ��� #����� ��� �����	 �
� � > �� � 
�� �
�
���� 	
�� � �� ���
 ��	 �
� ��� �� � � #�����  ��	 #� � �����
� ����� ��� ���� �	 
� � � �
		��
-$� ��� �����% �������.� ��� #������ ���� � ���� ��� 9= �
� �� @= ��� ����	
#� #����� � ����� U,(7 -�	���	 �V ���% �������. ��	 ���� 
������	 ��
��  ��� �� � �
�  �
� � 
�  �� �����% ���� �� � �������� ����������� �� 35±1C
#� 7==; �(6A9 ��#����
#��  ������ -'����% �������.� <��� � 	��% ��� 
#����� ��� ��������	 #� � ���
����� ��#� �� �� 
�"����	 5=== �, ����� #�����
�����
�
�� �� �����
�� �����
�� -2% *�<'. ��	 �����	 
� � � ���� ��� ��
	��� ��� � � �+� #������ 2� ���#�� ��� �������� � ���� � � ��� ��������	
#������% � � ���
����� ��#� ��� �1�
���	 �� #�� ��	� �
� � ���	��% � ���
����� �� �
���� � � �
�
���� 	
���

���� !������"�� ����
�������

������ ��� �"������
 �
��� !���� 
��	�
��	�3���
�

2 � ��
� �% 2���� $��
	� -2$. ��	 ?����
�� $��
	� -?$. ����������
�� �� � �
�������� ������#
� ���	�� �� ���� �� � � 	�� ������% ��
�� �����
� ������ ��	



�� �����
 ���� 5>

�� ������� �� �����% � ���� ��	 	�������	 ���	�� ���� 	�����
��	 �����	
��
�� $���	��	 +�� �	� C:>D� 2 � ������
�
�� �� #�� ����� ��	 � ����% 
�
����� �� ���#� �	�����% �����
�� ��	 �
�
	�% ��� ����� ���� � � �������
"�
������
�� ��#��� ��	 ��� �����
�������� "��
!�	 �����	
�� �� � � �����	����
	����
#�	 
� � � '��	#��� �� ���	 ������
� C:AD�

������� �	
��
��
�

��
�� ��� ��� ���	���
�� ��� ���
����	 ��
�� �� 
�"����	 5=== �, �����
#����� !���	 �
� � 2% *�<' �����
�� ��	 ��������	 �� � � 	
������ #� �
���
����� ��#��

�
���� 7�7B �
���� ����
�� ����

2 � "����� �� �����
�� �����
�� 	
������	 ���� � � 5===(�, #�����% � 
� 
��� ��������	 ��	 �������	 ��
�� � ���	����	 ���
�	��% ��� ������	 ��
#� �1�
"����� �� � � "����� �� � � 	�
�� ��� ��� ���	���
��� 2 � CO2

�����
��	 
� � � #
���� 	
	 ��� �0��� � � "�������
� ��� ��� ������������
�� � � CO2 ��� 	
����"�	 
� � � �����
�� �����
���

�- ��� �����	���	� �
���
	���

2���������� ��	 �' �� ��� �
������ 
�"���
����	 ���� ���
����	 ��� �� �����
���� � 	�� �
� � 2�U 97> � ��������� -;2;% �������. ��	 � �' �����
-&���� ��#�% �����.% �������
"����



�� �����
 ���� 5A

�����	������

2$ ��	 ?$ �������� �� ���� �� Fli �� ��� ��#������ ���� �������	 �����	(

�� �� $���	��	 +�� �	� C:>D� Fpr ��� �#��
��	 #� ����
���
�� #� A�7> � �
�����
� �
������ ������� �� ��� ��#������ -2U* �
��� *':(*. �������	 ��(
���	
�� �� $���	��	 +�� �	� C:>D% � ����� Fch ��� �"������	 #� ��#�����
��
� � ��� �� �����
�� ��	 �
�
	� ���� ?$ ������� C:6D���
�� ��� ��� ���	��(
�
�� ��� ���
����	 ������
�� � � "����� �� �����
�� �����
�� 	
������	 ����
� � ������� #����� ��	 ��������	 
� � ���	����	 ���
�	��� 2 � CO2 �����
��	

� � � #
���� 	
	 ��� �0��� � � "�������
� ��� ��� ������������ �� 
� ���
	
����"�	 
� � � �����
�� �����
��� 2���������� ��	 �' 
� ��� �+� #�����
���� ���� ���
����	 ��� �� ����� ���� � 	�� �
� � 2�U 97> � ���������
-;2;% �������. ��	 � �' ����� -&���� ��#�% �����.% �������
"����
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$�$ ��������� ��!�#���� �� "+�� #+�#�����#

����� ���
�� #���� ������$�" ���������

����	������� ������

�+� ����� ���� ���	����	 ��
�� � ��� 	
0����� �
"������ ������ -
��� ��0���
������-�+.% ������� ������ -�+. ��	 $�
�� ������ -$+..% � ��� ��
�
� �������
��
�� 
� ����� �� 2���� $��
	� -2$.% ?$% &��#� �	����� �����
��
-Fch.% �����
�� �����
�� -Fpr. ��	 ,
�
	� �����
�� -Fli. ��� � ��� 
� 2�#��7�5�
�� ����
�����% �+� ����� ���� ���	����	 �� ��� ������ -
	���
!�	 #� � �
���� 
�	���� 25% 27 ��	 29.� � ���� �� �+� ���� -
	���
!�	 #� � � ����

�	�� 2:. ��� ���	����	 �� � � 
�������% �� ���
���� � � "����� �� ��� ���
������
�� #� � � ���������
�� �� � � �����
� ������ �����
��	 
� � � ������#
�
���	��� �� �����% : �+� ����� ���� ���	����	% ��� �� � �� 
� ��
��
����
-2�#��7�7.�

��������� ��	�
 �� �� 
� ��������

�� g/kg, wet 102.7± 0.8 867.1± 2.0 101.5 140.9± 0.8
�� g/kg, wet 81.4± 0.6 365.2± 1.4 83.06 85.4± 0.5
Fch g/g, dry 0.18 0.30 0.35 �
Fpr g/g, dry 0.31 0.20 0.28 �
Fli g/g, dry 0.017 0.015 0.012 �

2�#�� 7�5B +�
� � �������
��
�� �� � � �����
� ���
	 ������ ���	 
� �+� �����
T1, T2 ��	 T3�

��
� �� �� 
� �������� Na2CO3

��

��� ��

��� ��

��� ��

��� ��

���

T1 77.61± 0.64 � � 150.22± 0.62 0.35± 0.04
T2 � 17.61± 0.51 � 150.15± 0.89 0.55± 0.06
T3 � � 76.87± 0.37 150.22± 0.62 0.30± 0.01
T4 � � � 150.16± 0.77 0.45± 0.05

2�#�� 7�7B +��� ������
�
�� �� �����
� ����
� ��� �+� ����� T1 − T4

�����	���� 

���
��
� ��� �	���	���
�

�+% $+ ��	 �+ ���� ��������	 ���� � ���� 
� ��#������% ���� $������% 
�
� � ���� ��� ����� ��	 �����	 
� 5= , #������ �� 40C� �������� ������#
�



�� �����
 ���� 5@

���	��% ���	 �� 
�������% ��� ����� ���� �� )�H�� ������#
� $��	�� ����(
��� -)�$�. ������� �����
�� � � ���������� ���	���	 #� � �������� ��������

������� �	
��
��
� �	
� ����	�

�
���� 7�9 � ��� � � �������
"� ��� ��� ���	���
�� ���� � � �+� �����
���	����	 ��
�� ���� ��#�������B T1 ��	 T3 ��"� � �  
� ��� ��	 ������
��� ��� ���	���
��% �������
"���G 
������	
��� "����� ���� �#��
��	 ����
T2�

0 20 40 60 80
0

2

4

6
x 10

−3 T
1

Time [day]

C
H

4/g
C

O
D

in
pu

t 

[m
ol

/g
C

O
D

]

0 20 40 60 80
0

2

4

6
x 10

−3 T
2

Time [day]

C
H

4/g
C

O
D

in
pu

t 

[m
ol

/g
C

O
D

]

0 20 40 60 80
0

2

4

6
x 10

−3 T
3

Time [day]

C
H

4/g
C

O
D

in
pu

t 

[m
ol

/g
C

O
D

]

�
���� 7�9B &������
"� #
�(��� ��� ���	���
�� ���� �+� ����� T1 −−T3

T3 ��"� � � ������� #
�(��� ��� ���	���
��� ����� ������ 	��� � � ���(
	���
�� �� � � � ��� �+2 ��� ������
����� � � 80% 70% 60% �� ����� #
�(
��� ��� ������
��� ��� ��� � � ��#�������% ����� @= 	��� � � ��� ��� ���(
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	���	 ��� ����� �� � � ���
��� �#��
��#��% 
�	
����	 #� � � �� 
�"�����
�� � � ��������



�� �����
 ���� 7=

����� %�����" ����� #���� ������$�" ���������

����	������� ������

�+� ����� ���� ���	����	 ��
�� ��� 	
0����� �����
� ������ -
��� <����
�
�����
�� �� ���
�
��� ���
	 ����� -<�+$;. ��	 ������������ ����� -�;..%
� ��� ��
� � �������
��
�� 
� ����� �� 2���� $��
	� -2$.% ?$% &��#� �	�����
�����
�� -Fch.% �����
�� �����
�� -Fpr. ��	 ,
�
	� �����
�� -Fli. ��� � ���

� 2�#��7�9� �� ����
�����% �+� ����� ���� ���	����	 �� ��� ���� ��#������
-
	���
!�	 #� � � ���� 
�	���� T5, T6. � ���� �� �+� ���� -
	���
!�	 #� � �
���� 
�	�� �9. ��� ���	����	 �� � � 
�������% �� ���
���� � � "����� ��
��� ��� ������
�� #� � � ���������
�� �� � � �����
� ���
	� �����
��	 
� � �
������#
� ���	��� �� �����% � ��� �+� ����� ���� ���	����	% ��� �� � �� 
�
��
��
���� 2�#��7�7�

��� ��	�
 ���
� �� ��������

�� g/kg, wet 334.7± 0.9 151.8± 0.5 140.9± 0.8
�� g/kg, wet 251.4± 0.7 140.9± 0.3 85.4± 0.5
Fch g/g, dry 0.28 0.32 �
Fpr g/g, dry 0.18 0.17 �
Fli g/g, dry 0.25 0.02 �

2�#�� 7�9B +�
� � �������
��
�� �� � � �����
� ���
	 ������ ���	 
� �+� �����
T5 ��	 T6�

�����	���� 

���
��
� ��� �	���	���
�

/����������
"� ������� �� <�+$; ��	 �; ���� ��������	 �����	
�� �� � �
����� �����
�� ��� �	����� C:@D ���� � �  ���� ��	 ������(��������	 ������
��	 � � ���
� ��	 "�����#�� ������ �� *����� �������
"���� ��� ������� ��
<�+$; ��	 �; ���� �����	 ��	 �
�"�	 �� ��� �� ��  �"� ��  ����������
�����
�� �������	 �� ����
���� �
� �
�� ����
�� #������ 5 ��	 7 ���

��
� ���
� �� �������� Na2CO3

��

��� ��

��� ��

��� ��

���

T5 24.43± 0.38 � 150.22± 0.62 0.35± 0.04
T6 � 56.45± 0.72 150.32± 0.65 0.60± 0.04
T7 � � 150.27± 1.05 0.30± 0.04

2�#�� 7�:B +��� ������
�
�� �� �����
� ����
� ��� �+� ����� T5 − T7
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2���� T5 ��	 T6 ���� ���	����	 �� � � ��� ���� ��#������� <�+$; ��	
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$�, ��������� ��- �!�#����

�� �� �
&��� ���
�� ��� %�����" ����� '���� "�(���������

����	������� ������

�
����� 7�9 ��	 7�: � �� � � �������
"� ��� ��� ���	���
�� ���� � � �+�
����� ���	����	 ��
�� ���� ��#�������� 2 � ��� ��
���
�� ������� ��� ������
� �� <�+$; -T5. ��	 �; -T6. ���� ���	 �� ��#������ ��� �� � �� �
"������
������% �� � ��� #� � � 
�
�
�� ����� �� � � �������
"� ���"�� -�
���� 7�:.�
��� ��� � � ���� ��#�������% ����� @= 	��� � � ��� ��� ���	���	 ��� ����� ��
� � ���
��� �#��
��#��% 
�	
����	 #� � � �� 
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�� g/kg, wet 102.7± 0.8 334.7± 0.9 151.8± 0.5 140.9± 0.8
�� g/kg, wet 81.4± 0.6 251.4± 0.7 140.9± 0.3 85.4± 0.5
Fch g/g, dry 0.18 0.28 0.32
Fpr g/g, dry 0.31 0.18 0.17
Fli g/g, dry 0.017 0.25 0.02
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T7 49.05± 0.51 � 11.19± 0.22 � 150.08± 0.93 0.35± 0.05
T8 68.68± 0.62 � 6.71± 0.18 � 150.34± 0.89 0.25± 0.02
T9 � � � � 150.22± 0.62 0.35± 0.04
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� ��#������  �� �� 	������� 
� �����	
�� �
� � ��#
� ���%
	��
�� � � 	
�
�������
�� �������� �� � 
� ��	�� 
� �������	 �
� � � ��+5
!���(��	�� 	
�
�������
�� �
���
��% � � ��
� �	"������ �� � 
� ��	�� 
� � ��
Ksbk 
� � � ���� ��� ��� <�+$; �$� ��	 � �� ��� #� �����
��������
	�����
��	 ��
�� <�+$; ������� �� ��� �$�� <� � � ��������% 
� � ���
���
!���(��	�� �
���
� �������
�� 
� ����
�	 ��	 �����
� ����� ������� ��� ���	
�� �����
�������� 	�����
�� � � �
���
� ��������% � � ������ ��� ���� #� ���	
�� �
������ � � ������#
� 	
����
�� �� <�+$;� �
� � � ���� ������ ��	
�$� �� � � 
�"���
����	 �����
� ����� �������� *����
� 
�������
�� �� � �
	
0�����
�� ����#��
� �1���
���  �� #��� ��������	 ��
�� � ����
(���� ���"
��
�����
� � #���	 �� � � �����
��� 	
0�����
��
�� �������� 
� � � �������� ����
+�2,�� �©�



&� "��#� ��
���  �$�� �% �'����$�$(���)�# �������
� �*��� � :7

.�$ �+&�����' ��#+'�#

*���� ��������� +��
�� 
��� )�� ��� ���
�������

2 � ��� ����
��� ��	�� �������	 
� ����
�� :�5  �� #��� ����
�	 �� �
�(
����� � � ��(	
����
�� ������� ��	 ��� ��� ���	���
�� 
� � 	
������ �� �
���
��� +;;2� �
� � ����
�� "����� �� 12000m3 ��	 � �  ���� ��
���
� �������
��
�� �� � � 
�H���� ������ ���	�� ��	 <�+$; �������	 
� 2�#��
7� ?����� �� � � �
���
� ��	 ���
� 
�����
� ���������� �� ���� �� '����
�
��������� �����	
�� �� � � ��������	 ��������� "���� ��� ����� 
�
� ���
	�
C:D% � �
���
� 	
�
�������
�� �������� Ksbk �����	
�� �� C89D ��	 � �  �	�����
�
�
���
� ��������� �������	 
� ��#�� :�5  �"� #��� �	����	 ��� ��� �
�����
����

��������� ��	� 
	�����	
� 
��� 
	�����	
� 
���

�������� 	
��
� m3 ����� �����
������� ������ ������ �
� ���� m3d−1 ��� ���
������ ������ ��� kgCODd−1m−3 ���� ����
������ ������ ����
� ������ �
����� ! �� ��
������ ������ "�
����� �
����� ! �� ��
������ ������ ��"��� �
����� ! �# �#
������ ������ ������ �
����� ! �# �#
�$%�& ��� kgCODd−1m−1 ���� 0÷ 2, 86
�$%�& ����
� ������ �
����� ! �� ��
�$%�& "�
����� �
����� ! �� ��
�$%�& ��"��� �
����� ! �# �#
�$%�& ������ �
����� ! �# �#
�$%�& "������� ������� ������ m 2.5 · 10−3 ÷ 5 · 10−2 5 · 10−2

a∗ m2kg−1 9.09 · 10−2 ÷ 1, 82 9.09 · 10−1

'�� "������� �� ��� �������� (�� ���# ���#
)�
"������� C �# �#

2�#�� :�5B <�����
���� ���������� ���	 ��� ��	�� �
�����
���

2 � ,&�� 	
����
��
�� �������� KLCFA 
� � � ��
	 #��� �1�
�
#�
� �1��(
�
���  �� #��� ������	 �1��� �� 1 · 103.5 �����	
�� �� C8:D� �����
��� �� 50%
���	
�� #
�	����	�#�� ��	 50% ������ #
�	����	�#�� ��#������  �"� #���
������	� ?����� �� 2.16d−1 ��	 3.84d−1 C8>D  �"� #��� ���	 ��� � � kLa
���F�
���� �� � � �
1�
	(��(��� ���� �������� �� ��� ��� ��	  �	�����% ��(
�����
"���% � ����� � "���� �� 60d−1 C8AD  �� #��� ����
�	 ��� � � ���#��
	
��
	� kLa ���F�
���� �� � � ��	
�� �� � � �����
� ���
	 ����
���� #������
������� �
� �
�� ������
�� � �
���� ��� C89D% ��� �
�����
��  �� #��� ����
�	
��� �����
�� a∗ �������� ��	 �1��� �� � � "���� ������
�� #� �1���
�� ->.%
�
� � � �����
� ���
	 ����
���� ��	
��% R% �1��� �� � � ��
� ���
� ���� #�(
����� 
�� 
�
�
�� "����% R0% ��	 � � "���� ���������	 #� ����� �� �1���
�� -A.

� ���������	���� �� � � 	
������ $/2 -$��
	 /�����
�� 2
��.� 2 � 
�
�
��
"����� �� � � ����� "��
�#��� �������	 
� 2�#�� :�5  �"� #��� ���	�



&� "��#� ��
���  �$�� �% �'����$�$(���)�# �������
� �*��� � :9

*���� �&�"� �) ��� %
��# �����"�� ���� �� ��� ��������
���)�����"��

�
���� :�5 � ��� � � ������� �� ��	�� �
�����
��� -��� 5% 2�#�� :�5. ��������	
�� ������ � � �0��� �� � � <�+$; ����
��� �
�� �� � � 	
������ ������������

� ����� �� &<� ����"�� �F�
���� ��	 ��� ��� ���	���
��� �
0����� ���(
�
��� 
�
�
�� ��	
�� -/. �� � � <�+$; 
� � � ����� 2.5 · 10−3 ÷ 5 · 10−2m
 �"� #��� 
�"���
����	% �����
�� � ����
����� �		
�
�� �� 17200KgCODd−1

�� <�+$; 
��� � � 	
������ ��� 5A= 	��� -
��� ���� 	�� 7= �� 	�� 5@=.� ��

������� �� � � <�+$; ����
��� �
�� ������� 
� � � 
������� �� � � &<� ����(
�
�� �� � � <�+$; �		�	 
��� � � ������� � �� 
� ��� #
�	����	�	 -�
����
:�5 �. ��	 ����
�� 
� � � �E����� 2 � �E���� &<� 	�� �� ������ ���	��

� 3.35KgCODm−3� 2 � ������ 
� ��� 
����	�	 
� � � �E���� &<� �������	

� �
���� :�5 �% � 
� 
� ���� ������	 �� � � <�+$;�
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R=2.5 10−3[m] R=5 10−3[m] R=1.5 10−2[m] R=2.5 10−2[m] R=5 10−2[m] noOFMSW

�
���� :�5B �0��� �� � � <�+$; ����
��� �
�� �� � � �E���� &<� -�.%
��� ��� �������
"� ������
�� -�.% ��� ��� ���	���
�� ���� -&. ��	 �'
-�.

2 � ����� &<� 	����	��
�� 	�� �� �  
� �� ����
��� ��	
�� 
���
�� � �����
��� ��� ���	���
�� ���� -�
���� :�5 &. ��	 � ����� �������
"� ��� ��� ���(
���
�� -�
���� :�5 �.� 2 
� ��
��� ��� � � �
�
�
�� �0��� �� � � 	
�
�������
��
���� �� � � ��� ��� ���	���
��% 
��� �� � � � ��� #
����
��� �������� �� ����%
� ������ ����
��� �
�� �� � � �����
� ����
���� ���	
�� � � 	
������ �0���� � �



&� "��#� ��
���  �$�� �% �'����$�$(���)�# �������
� �*��� � ::

�"����� ������� �F�
����% 	�� �� � � 	������� �� � � 	
�
�������
�� ����% � 
� 

���
�� � �
�
��	 -
��� ���� ����
��. �����������
�� 
� ���#� �	�����% �����
��
��	 �
�
	� �� � ��� ����
���� ��	% � ��% � ����� �"�
��#
�
�� �� ��#������� ���
� � ��#��1���� #
����
��� ���������� �� � �����1�����% � ����� ��� ��� ���(
	���
�� 
� �� 
�"�	� 2 � <�+$; �		
�
�� �� 	�� 7= ���� 
���
�� � � ��� �'
	������� -�
���� :�5 �. 	�� ��  
� �� ��
	� ���	���
�� #� ��
	����
� #����(
�
�� '���"�� � ��� ��
	� ��� 	����	�	 #� ��������
� #�����
� ��	 � �� � �
#
����
��� ������ ���� �� ��� ����	�(����� ���	
�
��� � � �' ���� �� �� 6.6
���
�� � �' 
������� ������ � �� � � <�+$; �		
�
�� 
� ������	% 
��� ��
	�� 5@=% 	�� �� � � 	������� �� ��
	� ���	���
��% #�� � �' �� 6.6 
� ���� �	
���
� �����	 	�� 7@=�



&� "��#� ��
���  �$�� �% �'����$�$(���)�# �������
� �*��� � :>

*��� �&�"� �) ��� %
��# %	, �� ��� �������� ���(
)�����"��

���� �� �
�����
��� -��� 7% 2�#�� :�5.  �"� #��� ����
�	 ��� �� 
�"���
����
� � �0��� �� � � ��� ��� ���	���
�� �� � � <�+$; ������ �		�	 
��� � �
������ ���	�� 	
������� &���
����� <�+$; �		
�
��� ���� 	�� 7= �� 	��
5@=  �"� #��� �
������	�

0 50 100 150 200 250 300
0

5

10

(A)

time [d]

[k
gC

O
D

 m
−3

]

0 50 100 150 200 250 300
0

2

4

6

x 10
4 (B)

time [d]

[k
m

ol
]

0 50 100 150 200 250 300
0

100

200

300

(C)

time [d]

[k
m

ol
 d

−1
]

0 50 100 150 200 250 300
4

5

6

7

(D)

time [d]

pH
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�
���� :�7B �0��� �� � � <�+$; �		
�
�� �� � � �E���� &<� -�.%
��� ��� �������
"� ������
�� -�.% ��� ��� ���	���
�� ���� -&.% �' -�.%
 �	���������� 
� ��� ������
� ��� �� -�. ��	 ����������
� ��� ������
�
��� �� -�.

2 � ������� � �� � �� 
������
�� � � <�+$; 
���� ���� = �� 9::==
KgCODd−1 -
��� 
������
�� � � ����� �����
� ���	
�� ����% <,/% 	�� �� #�� 
������ ���	�� ��	 <�+$; ���� 1.43KgCODm−3d−1 �� 3.29KgCODm−3d−1

������� 
� �� 
�������� 
������� �� � � <�+$; � �� 
� ��� #
�	����	�	 
�
� � 	
������ ��	 � �� ����
�� 
� � � �E���� -�
���� :�7 �.� �
����� :�7 �
��	 & � �� � � 
������� �� � � �������
"� ��� ��� ������
�� ��	 ��� ���
���	���
�� ����% �������
"���% � 
� 	��
"� ���� � � �#�"� �
��	 
������� ��
� � <�+$; 
���� ���� 0 �� 34400KgCODd−1� 2 � �' 	������� -�
���� :�7
�. 	�� �� � � <�+$; �		
�
�� �� 	�� 7= 
�  
� �� � �� �  
� �� <�+$;
������ 
� �		�	 
��� � � �������� '���"�� ��� ��� <,/� 
�"���
����	 
� � �
����� 1.43 ÷ 3.29KgCODm−3d−1 � � #
����
��� ������ ������ ���� �� ���



&� "��#� ��
���  �$�� �% �'����$�$(���)�# �������
� �*��� � :A

����	�(����� ���	
�
��� ��	 � � �' ���� �� �� A�A ���
�� ; ����� � �� ��
�"����� <,/ �� 3.43KgCODm−3d−1 
� ����
	���	% � � �' 	��� 
� 
���"���
#��
��	 ������� 
� � � 	
������ ��
���� -�
���� :�7 �.� 2 � �' 	��� �0���� � �
�
���#
�� ���
"
��% ������
�� 
� � � ��� 	������� �� � � #�����
�� ���������(
�
�� 
� � � 	
������� ��� 
�������% � � ����������
� ��	  �	���������� 
�
��� ������
� ��� �� ��� ���������� ��� �	 ��� ���� � � 	
������ �����	
	�� 5== -�
���� :�7 �. ��	 	�� 5=> -�
���� :�7 �.% ���!��
�� � � 	
������
��
����� �
���� �
���� :�5 � ���� � ��� �� 
������� �� � � ����������
�� ��
����������
� ��� ������
� ��� �� ���� 0.24 �� 0.99KgCODm−3% � 
� ��(
����� ���� � � 
������� �� � � <,/ ���� 1.43 �� 3.29KgCODm−3d−1� 2 �
���������� 
������� �� � 
� ����������
�� -:57�> S. �� ��� ������
� ��� ��

�  
� �� � �� � � ���������� 
������� �� � � <,/ -9== S.% ���!��
�� � �
������
�� �� <�+$; �		
�
�� 
��� � � 	
������ �� ���
�
�� � � ��� ���
���	���
���



&� "��#� ��
���  �$�� �% �'����$�$(���)�# �������
� �*��� � :6

*���* ��-������ �) ������� %
��# �����"�� ���� ���
%	, "���������

�
���� :�9 � ��� � � ������� �� � ����
�
"
�� ������
� �� � � 7 ������
����
���������� ����� 
��� ������� 
� � 
� ���	�% 
��� <�+$; ����
��� �
�� ��	
<,/% �
��	 �� ������
�� � �
� ���#
��	 �0��� �� � � 	
������ ������������
��	 � � ���������� �� � � 	
����
�� ������� ��
����� 2 � ��	�� �
�����
���
 �"� #��� ����
�	 ��� �
� � � ���� 	
������ "����� ��	 � � ���� � ����(
���
��
�� �� � � 
�H���� ������ ���	�� �� �������	 
� 2�#�� 7% #�� ����
�� � �
����
��� ��	
�� ��	 � � <,/ #������ 5.0 · 10−4 ��	 2.5 · 10−2m ��	 1.43 ��	
9.14KgCODm−3d−1% �������
"���� �
���� :�9 � ��� � �� � �  
� �� 
� � �
����
��� �
�� �� � � <�+$;% � �  
� �� 
� � � <,/ � �� 
�	���� � � 	
������
��
����� 2 
� 
� 	�� �� � � ������ 	
�
�������
�� ��	 � �� ������ ��
	
!���
��
������
�� ���  
� �� <�+$; ����
��� �
���� '���"�� ��� ������ ����
����

���� � � ���� 	��� �� ��� � � 	
����
�� ���������% ������
�� 
� � � 	�������
�� � � �"����� 	
����
�� �F�
���
�� 
� ����� �� &<� ����"��% �� � ���	 #�
� � 
���F�
���� ���"�� 
� �
���� :�9�
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�
���� :�9B &��#
��	 �0��� �� � � <�+$; ����
��� �
�� ��	 <,/ �� � �
	
����
�� ������������ 
� ����� �� &<� ����"�� �F�
���� (η)



&� "��#� ��
���  �$�� �% �'����$�$(���)�# �������
� �*��� � :@

.�, 
��"�#� ��'�������� �� %�'� ����� "����-

 +��

2 � ��� ����
��� ��	�� ��� #� ���	 �� ���
���� ��"���� �������� �
���
�
���� ���������� �� � 
� � ���� ��	�� ���
#���
�� ��� ���	 �� ���
���� Ksbk%
[ML−2T−1]% 
��� � � �������� �
���
� ���� �������� �� � � �������(#���	 	
�(

�������
�� ������� ��	 Kdis[T

−1]% 
��� � � !���(��	�� �������� �
���
� ����
�������� �� � � 	
�
�������
�� �������� &��
#���
�� ��� ��������	 #� ���(
���
�� ��	�� ������� �
� �����
������ ������������ �� ��� ��� ���	���
��
��	 �	3���
�� � � ������� ��������� ���
� � � ��	�� ������� �	�1������ !�
� � �����
������ �#���"��
���� �����% ������
���� ��	 ������ 	��� ���� ��(
���
���� �% � ��	 &� -2�#�� 7. ���� ���	% ��	 � ����
!� �����	��� ���
	�"�����	� �� � 
� ���� � � ���
#���
�� �����	��� 
� �������	 �� Ksbk% �"��

� 
� ��� #� ����
�	 ��� ��� �������� �
���
� ���� ��������� 2 � ���
#���
��
�����	��� 
� ���������	 
� ���� ����� �� ��������

5� $��� 5 	�����
��� � "��
��
�� ����� ��� Ksbk

7� $��� 7 ��������� �� ���� 	
0����� "����� �� Ksbk �� � � ���
���
��
�������� ��1�
���� 2 
� ��������
�� ��� ��������	 ���
�� �X5 ��������
���� "����� �� Ksbk% #������ � � ��� #���	� �� � � "��
��
�� �����%
�����	
�� �� � � ������
�� �������
��B

Kj
sbk = Kj−1

sbk +ΔKsbk
, j = 1, ..., n, -:�8.

� ��� K0
sbk = 0 ��	 Kn

sbk = 1 ��� � � ����� ��	 ����� #���	� �� � �
"��
��
�� �����% �������
"���% ��	 ΔKsbk


� � � ���
� #������ � � �
	� 
�� � � ����� ��	 �� 2� ��� � � �������� �� � � ������� �� ��� �
��
!����
	
�
��% � ��� !��	 �� #� �1��� �� 5==

9� $��� 9 $��� 9 ��� ��������	 #� �����
�� � �
������	 ���"� ��� ��� 
"���� �� Ksbk ���� � � 	�"�������� �� ���� 7 ��	 #� ������
�� �
�(
�����	 ������� �
� �#���"�	 	���� � ������
��� ��� ��������	 #�
�����
�� � ��� ��� �	� � �� ��� �������� ���	 ��� � � ��	�� ���
#��(
�
�� ������� -C86D.% � � +�	��
�� �F�
���� -+�. ��� �	% � � ��	�� ��
��������� -���. ��� �	 ��	 � � /��� +��� $1���� ����� -/+$�.
��� �	% ��������
�� � � � ��� ������
�� ����������B

ME = 1−
∑k

i=1(yi − yii)
2∑k

i=1(yi − yiM)2
-:�5=.
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IoA =

∑k
i=1(yi − yii)

2∑k
i=1(|yi − yM | − |yi − yM |)2 -:�55.

RMSE =

√∑k
i=1(yi − yii)

2

K
-:�57.

:� $��� : $��� : 	�����
��� � � "���� �� Ksbk � �� #��� !�� � � �#���"�	
	��� ��
�� � � � ��� 	
0����� ��
���
�� $��� : 
� ��������	 #� �����
��
� ��� ���
�� �� ��
��� ��
�� &�����
�� ����	
����� �
� Ksbk �� � � !���
����	
���� ��	 � � ���������	
�� "����� �� +�% ��� ��	 /+$�% ���(
������	 
� ���� 9% �� � � �����	 ����	
����� 2 � ���� ������
�� �� � �
���
#���
�� ������� 
� � � 	�����
���
�� �� Ksbk � �� �
� �� ���
�
���
+� �� ���� �� ��� �� �
�
�
��� /+$� ��� ��� ���
�� �� ������	 	����
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.�. ��'�������� �� %�'� ����� �� 
�)�-��0�!�

#'+ !� ��- �!�#����

2 � �������
"� ��� ��� ���	���
�� 	��� � �� ���� �#��
��	 ���� � � ��(
���
������ ����� ��� �������	 
� �
���� :�:� 2 
� !���� � ��� � �� � � ����
����� � � � ��� ���"�� ������
�� ���� ����� A1% B1 ��	 C1% �������
"���%
��� ���
���#�� ��� � � 
�
�
�� 7= 	��� ��	 � �� ��������
"��� ���	 �� "��(

� � ;
� 
� � 
� 
�
�
�� ���
�	% � � � ��� ���"�� ��� ���
��� 	
��
���
� �#�� ��
������� 
�	
����	 #� � � ����� #��� �� � � �����
������ ��
��� -�
���� :�:.�
�� ����
�����% � � 	
0������� ���  
� �� � �� � � 7�> �� ���"� 
� �������	
�
� � � =�> �� 5�> �� ���"��� 2 � 	
0������� ����� � � � ��� �����
���(
��� ���"�� ��� ���
���#�� ���� 	��
�� � � 
�
�
�� 7= 	���% �� � � 	
�
�������
��
������� �� � � ���
	 ����
���� ������ 	��
�� � 
� 
�
�
�� ���
�	� <��� � �
���
	 ����
����  �"� 	
�
��������	% � � ������#
� �������� ����
��� �� ���	���
��� ��� �� ���� �� ��� � � �����
� ������ 
� #
�	����	�	% ��	 � � ��	 ��
���
�� � � � ��� ���"�� ��
��
	� �� ��� ������� ��� !���	 �
� � � ���� ������ ��
�����
� ������� 2 � 
�
�
�� ��� ����� � � � ��� ���"�� 
� 	�� �� � � �0��� ��
� � ���
	 ����
��� �
�� �� � � ��� ��� ���	���
��% � 
� ������ #� ��������
��	���	 �
� � � ���� !���(��	�� �
���
� �������� ��� � � � ��� �����
������
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���
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2 � ��
� 	
0������ �� � � �������	 ��	�� �� �������	 �
� � � ��+5

� � �� � � 	
�
�������
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����
��� �
���
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�
���� :�>B �����	���� �� +� �� Ksbk�

2 � ��	�� ���
#���
�� ��������	 
� � 
� 2 ��
� �������	 
� ����
�� � �
�
���
� �������� Ksbk �� 0.15kgm2s−1 � �� ��
�� "����� �� � � �� �� �
���
�
��	 ���
� 
�����
� ���������� �� ��������	 #� C:D ��� ����� 
�
� ���
	��

2 
� "���� �� � � �
���
� �������� Ksbk ���
�
��� #�� +� ��	 ��� ��	
�
�
�
��� /+$� -�
����� :�>.% ���
�� � � ��� #������ 	��� �
������	 #�
��	�� ��	 �����
������ 	��� ���	 ��� � � ���
#���
�� ������� �� ����� �� ���(
�
#��� 2 
� Ksbk "���� ����� ����� � � ��	�� ���
#���
�� ������� ��1�
��������
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�
���� :�AB &�����
��� �� �������	 ��	 �
������	 #� �������	 ��	�� ����(
���
"� ��� ��� ���	���
�� ��� �����
����� �%� ��	 &B �"������
�� #������
�������	 ��	 �
������	 	��� -�%� ��	 �.G ������
��� �
� � � �
�� �� �������
!� -#%	 ��	 �.�

��� ���"�� ����������	 
� �
����� :�> � �� � ������ ����	% � �������
��	 #� �
�
���� �������� ��"����� ������	 �
� � 
� Ksbk = 0.15kgm2s−1� 2 
� ��"�����
���"�� � � ��
������ �� ��� ��	 ���� ��� �����
�� �� � � ����
!� ���
�
���
��
���#��� � �� ��� ���	 �� ���
#���� � � ��	��� � ���� �� 
�������
�� ������
� �� ������� #� ������
�� � � ���"
��� � ��� ���� � �������� � � ����
�
"
��
�� +�% ��� ��	 /+$� �� KsbkB � � ������ Ksbk 
� �� 1kgm−2s−1% � � �������
� � "��
��
��� �� +�% ��� ��	 /+$� ��� 
� �������� �� "��
��
��� 
� Ksbk�
2 
� ���� �#���"��
�� "��
	���� � �  ���� ��
� � �� � � �����	��� ���	 ��
���
#���� � � ��	�� 
� #���	 ��% �� ������ 1kgm−2s−1 �� � � ����� #���	 ��
� � Ksbk "��
��
�� ������ 2 � ���� �� ����
�
"
�� � ��� #� � � ��	�� �����	



&� "��#� ��
���  �$�� �% �'����$�$(���)�# �������
� �*��� � >9

"����� �� Ksbk �� 1kgm−2s−1 ��� #� �����
��	� Ksbk 
� � �
���
� ���������
���	 �� 	����
#� � � ���� �� � �
���� ������� -
���% 	
�
�������
��. ����� � �
��"���� ��������� 
�"��"�	 
� � � ������#
� ��(	
����
�� �� �����
� �������
2 � "���� �� Ksbk ��� � ������� �0��� � � ������ �� � � ��	�� �� ���� ��

� 
� ����� �������	 �
� � � "����� �� � � �� �� �
���
� ��������� � �� ���
����
	���	 
� � � ��	�� -
���% �� ���� �� 	
�
�������
�� 
� � �
�
�
�� �������.�
'���"��% � �� � � "����� �� � � 	
0����� �
���
� ��������� � ����% ����
��������� � �� ���� ��� �
�
�
�� #����� �
�
�
�� ��	 "
�� "�����

��
� R0 Ksbk �� �� ��
�

[mm] 0.15kgm−2s−1

0 ��� ��� ����� ����� �����
. ��� ��� ����� ����� �����

2�#�� :�7B /����� �� � � ��	�� "��
	��
�� ��������

�
���� :�A � ��� � �  
� ��� ��������� #������ �
������	 ��	 �#���"�	
	��� ��� �������
"� ��� ��� ���	���
�� �� 
�"�	 #� � � ����
!� �����	���
� �� ��� ���	 �� ���
#���� � � ��	��� �� �
���� :�A�% � � ���	 �"�����
#������ � � ��� ���
�� �� 	��� 
� � ���% �
� � "��� ����� � 
�� #������ � �
��
��� �
� �
������	 ��	 �#���"�	 	��� �� ����	
����� ��	 � � �
�� �� �������
!� �������	 
� �
���� :�A#� ����� ���
#���
�� � � ��	�� ��
�� � � �������
"�
��� ��� ���	���
�� ������� ���� �����
���� �% � � ���
#����	 Ksbk "����
-
���% 0.15kgm−2s−1. ��� ���	 �� "��
	��� � � ��	��� �����
����� � ��	 &
���� ���	 �� "��
	��� � � ��� ����
��� ��	��% ������
��

��
�
R0 Kdis �� �� ��
�

[mm] s−1

0 ��� ����� ����� ����� �����
. ��� ����� ����� ����� �����

2�#�� :�9B /����� �� � � ��+5 "��
	��
�� ��������

� � ��������� #������ �
������	 ��	 �#���"�	 	��� ��� �������
"� ��� ���
���	���
�� �
� � � ���������� +�% ��� ��	 /+$�� 2 � ������� �� � � "��(

	��
�� ������� ��� ���� 
����� 	����
#�	 
� �
����� :�A#%�%	 ��	 � ��� ��(
���
����� �������	 
� 2�#�� :�7� 2 � ���� � 
�	
���� � "��� ���	 ���������
#������ � � �
������	 ��	 �#���"�	 	���G � � ��������� 
� ���!���	 #� � �
"����� �� � � !��
�� ���������� �������	 
� 2�#�� :�7� <��� � ��� �����
(
������ ��
��� ����� �� � � ��
�
� �� � � ���� ��� ��� !���	 #� � � �
�����
��
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�
���� :�6B &�����
��� �� �������	 ��	 �
������	 #� ��+5 �������
"�
��� ��� ���	���
�� ��� �����
���� ��

2 � "���� ���
���	 �� Ksbk% �� ���� �� � � ��	��
�� ������� �������	 
�
� 
� ����% 
� ����� "��
	���	 #� �����
����� � ��	 &� 2 � ���� �����
���(
��� 	��� ��	 � � ���� ���
#���
�� �����	��� ����
�	 �� � � �������	 ��	��
���� ���� ���	 �� ���
#���� ��	 "��
	��� � � ��+5 -2�#�� :�7 ��	 �
������
:�A�%	%� ��	 � �� ������ � � �����
#��
�� �� � � �������	 ��	�� �� � ������
��
�����	� ��� � � ��+5� 2 � ���
#���
�� �� � � ��+5 �������	 
� � 	
�
�(
������
�� �������� Kdis0.406s

−1% ����#�� �� ���
�
�
�� #�� +� ��	 ���
��	 �
�
�
�
�� /+$� -�
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2 � ������� �#��
��	 ���� � � �+� ����� ���� ���	 �� ���
#���� ��	 "��
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� ��� ����
��� ��	�� �������	 
� :�5� ��� � 
� �
�% � � �����	��� 	���
��	

� :�9  �� #��� ����
�	% ���
�� 
��� ������� � � +�	���
�� �F�
���� -+�.
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��#������� 2 � ��������� ������	 �� �+� ����� 25 ��	 29 ���� ��#��1������
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�
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���
� ��������� �� 	
0����� ��#�������  �"� #���
�"������	 � ���� � � ���
#���
�� �������% � � ��� ����
��� ��	�� ��� #�
���	 �� ���	
�� � � #
�(��� ��� ���	���	 ���� � ��(	
����
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�
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.�2 �3��&�� &��*�&�����' &� �''��! �� #+'-

���� �� +���! !�#-'��� �������#

*�.�� ������
"����

$������ ��	���
�� 
� ��� �
�� ��������% ��
��  �	����� -H2. ��	 ���#�� 	
��
	�
-CO2. ��% �������
"���% �������� 	���� ��	 ���#�� ������% ���������� � "���(
�#�� �����
�� ��� � � ��������� �� ����
!� ����������� -C88% 5==% 9D.� ����(
���
� �������(�
� ���������� ��� �� ��
	 ���� 	��
���� �� H�� ��� ����##
��
������ �����
� �
���� �� �� �����
� �������	�% � �� #
����
��� ������� ��	��(
�
�� ��� ���� ���� ����� � �� �������� 	���� ��	 ���#�� ������ ��� �		�	
����������� � ��3�� ���#��� �� � ���  �	����� ��	 �������(��	��
�� ��������

� � � ������
�� �� ��� ��� ����  �	����� ��	 ���#�� 	
��
	�� +�� ���
������
�� ����  �	����� 
� ��	��
��	 #������ 
� ������ � �  �	����� ��
(
�
���
�� �F�
���� ��� ������� ��	���
��� 2 ����	����
� ��	 +���	(�
���
�
	��� ��  ��������� 
� ������� ��	��
�� #�����
� -'$/�.% �������� 
� �������
��	��
�� #�����
� -�$/�.%  �����������
� #�����
� -'�.% ��� ������
� ��(
� ��� -+�. ��	 ������� 	����	��� -��. 
�	
���� � �� '$/� ��	 �$/�
��� 	�"���� 
� � ��� ���(�
�� ��������� �$/� ���(������� +� ��	 '� ���
 �	�����% '$/� ��� �#�� �� ������� ������������ �
� �� ��N��	 +� ���
 �	����� ��	 �������� �� ��� �� '$/� ��� ��������	% � � �#�"�  ���� ��
�
 �� #��� ���!���	 �����
�������� ���  �	����� -C5=5% 5=7% 5=9% 5=:D.� ;
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�����	 �� � � ��
�
���
�� �� ������� 
� ������#
� ��������% �
�������� 	��� ���
��#
������ $�"���� ������� �� � �� � �� 	��
�� ������� ��	���
�� '$/� ���
������� ������������ �
� �� ��� ������� -C5=>% 5=A% 5=7% 5=6% 5=@% 5=8D.
� ����� �� ��� 
�	
���� � �� � � ������ 
� ���������
���� 	����	�	 �� ��� ���
-C55=% 555D.� 2� �����
� � � 	
0������� ����	% #��
	�� �
���
� ����
	����
���%
�� �� ������� 
�H����
�� � � ������
�
�� ������� #������ '$/� ��	 ��
� ���	 #� ����� 
��� ������� �� ����� 2 ��� ������� 
����	� � � COD/SO2−
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���  �	����� ��
�
���
�� -C5==% 557% 559D.� $�� ������� �0��� � � �������
�� � � ������
�
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�
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� � ��� ���(�
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�
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� � #
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��� ������� ��	��
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�����	� &��
#���
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	��
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������ ���	� -C9D. �#��� � � 
�������
�� #������ ������� ��(
	���
�� ��	 ��� ��������
� 
� � ���(�
�� ������#
� �������� �� � � � ��
�% � �
��	�� 
� ����
�	 ��� � � ������
�� ��������B �. "��
!���
�� �� � ����	�(�����
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� 2�#�� 5& ��	 7& -$�� �����	
�.% 
� #���	 �� ���� #������ �1���
���
��� ��#�������% ���	����% ��	 #�����
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����	�� � � #
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���
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���#
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��� '$/�% �$/�%
'�% +�% ��	 ��G ��	 �
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��� '�(
	����� -H2.% $������ -SO2−
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� ��� 	����	�	 �
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	���	 
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>� & ��
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�� ���� #
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� ���
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	���	 �� 
���� 
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2 � ���� 
	� ���
�
�� ��� ��� ����� 
��� ������� 	�� �� � ���� �� 1���(
�
���
"� 	��� 
� � � �
��������% � 
� ��� ����� ������	
������ 2 � �' �0���
��� ��������	 �� ���(�
�� �������� ��� ��������� ���� #�0���	 �� ���������	 ��
� 	��
��	 �'�
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�
���� :�5=B $� ����
� �����������
�� �� � � #
����"���
�� ��� ���� 
� � �
��	��

6�� �	�����	 �
�������

�����	
�� �� '����
� ���% ��	�� ����	� ����� ���	
�
��� � � ����������
��
�� � ��� 
� �1����� � ��� 
� 
� �1�
�
#�
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� 
�� ����
�� �������� 
� � �
������� � ���� 2 ������� �� �������� �"�����
�� �� � � ���(�
�� ������� ������
��1�
��� ��	���
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1�
	(��� �������� ��������� 
�"��"
�� ��� � � �������
���	���� �� � � #
����
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���� #������ �1���
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d[S]l
dt

=
q

Vliq
([S]l,in − [S]l)−Kla([S]l − [S∗]l) +

N∑
i=1

ρiνi, -:�59.

d[S]g
dt

=
Vgas
Vliq

Kla([S]l − [S∗]l)− Qout,g

Vgas
[S]g, -:�5:.

2 � ����� ��� �������� � 
� � � 	
������  ��	����� 
� ���������	 �� � �
��� �� � � ����
�� ��������� �� ��������	 ����� -H2O.% ���#�� 	
��
	� -CO2.%
��� ��� -CH4.%  �	����� -H2. ��	 ���� 
	� -H2S.� 2 � ����� ���������(
�
�� �� ��� ������� ��������� �� � ����	����
� �1�
�
#�
�� [S∗] 
� �
"��
#� '����
� ���B

[S∗] = Hgaspgas -:�5>.

� ���B

• Hgas I '����
� �������� ��� � � ����
!� ��� [M−1T 2L−2]

• pgas I ����
�� �������� �� � � ����
!� ���% ���������	 �����	
�� �� � �
������
� ��� [MT−2L−1]�

(���	�
 �����	���
�

*����
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�������
�� �� � � 	
0�����
�� ����#��
� �1���
��� 
� ��������	 ��
��
� � ���"
�� �����
� � <��5>$% � ����
(����% "��
�#��(��	�� ���"�� #���	 ��
� � �����
��� 	
0�����
��
�� �������� 
� � � �������� ���� +�2,�� �©�
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�
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�� ������� ��� ��������	 #� ������
�� ��	�� ������� �
� �����(
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�� ->�7. 
� �1�
"����� ��
∑n

i=1 fi = 1� 2 � ����
�
�� ���� �� � 
�
��������� �
�� #� ���"�	 
� $��� >�7�7�

�1���
��� ->�7. ��	 ->�9. ���� 
�
�
���� ��������	 
� C579D% C57:D� �� � �
!��� ����
��� �� �
�� ������

rmi = rmi(z, t, ρif1, ..., , ρifn) = rmi(z, t, X1, ..., Xn). ->�:.

2 � �
����
�� � ��� rmi 	����	� ���� �� ��#������� �
�� #� ����
	���	 
� $���
>�7�:�

1	�� �
����	"

&���
	�� � � ���� #������ �� [0, L(t)] ��	 	����� #� ρiσi(L(t), t) � � #
�����
H�� #������ #
�!�� ��	 #��� �
1�
	

∂

∂t

∫ L(t)

0

ρifi dz = −ρiσi +
∫ L(t)

0

ρirmi dz, i = 1, ..., n, t > 0. ->�>.

$���
�� �� i ��	 ��
�� ->�9. ��	 ->�5=.2 �
��	�

L̇(t) = u(L(t), t)− σ, t > 0, ->�A.

� ���

σ =

n∑
i=1

σi. ->�6.

2 � 
�
�
�� ���	
�
�� ��� 	
0�����
�� �1���
�� ->�A. �
�� #�

L(0) = L0, ->�@.

� ��� L0 	������ � � 
�
�
�� � 
������ �� #
�!���

0���� �������� ������

&���
	�� ������ ->�7.(->�9. ����
���� 
� ����� �� Xi⎧⎨
⎩

∂Xi

∂t
+ u∂Xi

∂z
= ρirmi − ∂u

∂z
Xi,

∂u
∂z

=
∑

i rmi,
i = 1, ..., n 0 ≤ z ≤ L(t), t > 0, ->�8.
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�
� � � ������
�� 
�
�
��(#���	��� ���	
�
���

Xi(z, 0) = ϕi(z), u(0, t) = 0. ->�5=.

2 � �����
��� ϕi(z) ��������� � � �����
� 
�
�
�� ����������
���� &��	
�
��
->�5=.2 
� ��������� )�
�� ->�8.2 
� ->�8.1 �
"�� � � ������
�� ������ �� ���(
�
����  ����#��
� �1���
���

∂Xi

∂t
+ u

∂Xi

∂z
= ρirmi −Xi

n∑
h=1

rmh, i = 1, ..., n. ->�55.

2 � � �������
��
�� ��� � � �
��� z = s(z0, t) 	�!��	 #�

∂s

∂t
(z0, t) = u(s(z0, t), t), s(z0, 0) = z0, z0 ∈ [0, L0]. ->�57.

�� ����
��

Fi = ρirmi −Xi

∑
j

rmj = Fi(z, t, X1, ..., Xn) = Fi(z, t,X), ->�59.

��	 ����
	��
�� ->�57.% ������ ->�55. ��	���� �� � � ������
�� ������ �� ��(
	
���� 	
0�����
�� �1���
���

d

dt
Xi(s(z0, t), t) = Fi(s, t,X), i = 1, ..., n, 0 ≤ z0 ≤ L0, t > 0, ->�5:.

�
� 
�
�
�� ���	
�
���

Xi(s(z0, 0), 0) = Xi(z0, 0) = ϕi(z0), 0 ≤ z0 ≤ L0, i = 1, ..., n. ->�5>.

$��"
�� ������ ->�5:.(->�5>. �
"�� Xi ����� � � � �������
��
��� '���"��% � 
�
	��� ��� ���"� � � ���#���% �
��� � � � �������
��
�� ��� �������� �� �		
(
�
��% ���� � �� 	
0�����
�� ������ ->�5:.(->�5>. 
� �1�
"����� �� � � 
�������
������⎧⎨

⎩
Xi(s(z0, t), t) = ϕi(z0) +

∫ t

0
Fi(s(z0, τ), τ,X(s(z0, τ), τ)) dτ,

i = 1, ..., n, 0 ≤ z0 ≤ L0, t > 0,
->�5A.

� 
� 
����������� � � 
�
�
�� ���	
�
��� ->�5>.�
*��% � � 
������� �1���
�� ��� � �������
��
�� 
� 	��
"�	� ���� ->�57.

s(z0, t) = z0 +

∫ t

0

u(s(z0, τ), τ) dτ. ->�56.
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<� � � �� ��  ��	

∂

∂z0
u(s(z0, t), t) =

n∑
h=1

rmh(s(z0, t), t,X(s(z0, t), t))
∂s

∂z0
(z0, t),

� ��� �1���
�� ->�8.2  �� #��� �������	� '����%

u(s(z0, t), t) =

∫ z0

0

n∑
h=1

rmh(s(ζ, t), t,X(s(ζ, t), t))
∂s

∂z0
(ζ, t) dζ. ->�5@.

������
�� � � �1���
�� �#�"� 
��� ->�56. �
"�� � � 	��
��	 
������� �1���
��
��� s(z0, t)

s(z0, t) = z0 +

∫ t

0

dτ

∫ z0

0

n∑
h=1

rmh(s(ζ, τ), τ,X(s(ζ, τ), τ))
∂s

∂z0
(ζ, τ) dζ,

->�58.
� 
� 
����������� � � 
�
�
�� ���	
�
�� s(z0, 0) = z0� +����"��% �
��� ∂s/∂z0

� 
�"��"�	% �� ���� ���	

∂s

∂z0
(z0, t) = 1 +

∫ t

0

n∑
h=1

rmh(s(z0, τ), τ,X(s(z0, τ), τ))
∂s

∂z0
(z0, τ) dτ, ->�7=.

� 
� ������� ���
�� ���� ->�58.�
�
�����% � � 
������� �1���
�� ��� � � ���� #���	��� 
� �#��
��	 #� ->�A.

L(t) = L0 +

∫ t

0

u(L(τ), τ) dτ −
∫ t

0

σ(L(τ), τ) dτ. ->�75.

0���� �5�����"� ��� 
��6
����� �) ���
�����

2 � 
������� ������ 	��
"�	 
� $��� >�7�5 �
�� #� 	
������	 !��� 
� � � �
���(
�
��

σ = 0. ->�77.

)�	�� � 
�  ���� ��
�% � � ����
���	 ������ 
� ��������	 ��

Xi(s(z0, t), t) = ϕi(z0) +

∫ t

0

Fi(s(z0, τ), τ,X(s(z0, τ), τ)) dτ, i = 1, ..., n,

->�79.

s(z0, t) = z0 +

∫ t

0

dτ

∫ z0

0

n∑
h=1

rmh(s(ζ, τ), τ,X(s(ζ, τ), τ))
∂s

∂z0
(ζ, τ) dζ,

->�7:.
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∂s

∂z0
(z0, t) = 1 +

∫ t

0

n∑
h=1

rmh(s(z0, τ), τ,X(s(z0, τ), τ))
∂s

∂z0
(z0, τ) dτ, ->�7>.

0 ≤ z0 ≤ L0, 0 < t ≤ T. ->�7A.

*��� � �� �1���
�� ->�75. 
� 
����	�	 
� ->�7:. ��� z0 = L0�
�� ����
��

xi(z0, t) = Xi(s(z0, t), t), i = 1, ..., n, ->�76.

xn+1(z0, t) = s(z0, t), xn+2(z0, t) =
∂s

∂z0
(z0, t), x = (x1, ..., xn+2), ->�7@.

Fn+1(t,x(z0, t)) =
n∑

h=1

rmh(s(z0, t), t,X(s(z0, t), t))
∂s

∂z0
(z0, t), Fn+2 = Fn+1,

->�78.
������ 
� ����
���� ��

xi(z0, t) = ϕi(z0) +

∫ t

0

Fi(τ,x(z0, τ)) dτ, i = 1, ..., n, ->�9=.

xn+1(z0, t) = z0 +

∫ t

0

dτ

∫ z0

0

Fn+1(τ,x(ζ, τ)) dζ, ->�95.

xn+2(z0, t) = 1 +

∫ t

0

Fn+2(τ,x(z0, τ)) dτ, ->�97.

0 ≤ z0 ≤ L0, 0 < t ≤ T. ->�99.

,��
	�� �9 ������ Fh h = 1, ..., n + 2 �
����
�� ����
����� ��	 ϕi 
i = 1, ..., n ����
�����!

|Fk(x, t)−Fk(x̃, t)| ≤ λk

n+2∑
h=1

|xh−x̃h|, k = 1, ..., n+2, ϕi ∈ C([0, L0]). ->�9:.

"��� 
� ->�77. ���	� ����� ��
��� � ��
#�� ����
����� �����
�� �� ������
->�9=.(->�99.B

xh = xh(z0, t), h = 1, ..., n+ 2, z0 ∈ [0, L0], 0 < t ≤ T, T > 0.

������ &���
	�� � � "����� ����� V �� � � �����
�� xh(z0, t) ����
����� ��
C(I)% I = [0, L0]× [0, T ] �
� ����

||x|| =
n+2∑
h=1

sup
I

exp(−γ1z0 − γ2t)|xh(z0, t)|. ->�9>.
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'���% γ1, γ2 ��� ���
�
"� ��������� � �� �
�� #� !��	 ����� ��� &���
	�� � �
��� y = Ax �� V 
��� 
����� 	�!��	 #�

Ax = �
� �( ��	 �
	� �� ������ (5.30)− (5.32). ->�9A.

,�� �� � �� � �� A 
� � ��������
"� ���� ������ #� ỹ = Ax̃ ��	 �#��
�

|yi − ỹi| ≤ λi

∫ t

0

n+2∑
h=1

|xh(z0, τ), τ)− x̃h(z0, τ), τ)| dτ, i = 1, ..., n,

|yi − ỹi| exp(−γ1z0 − γ2t) ≤

λi

∫ t

0

exp(−γ2(t− τ))

n+2∑
h=1

exp(−γ1z0 − γ2τ)|xh(z0, τ), τ)− x̃h(z0, τ), τ)| dτ ≤

λi||x− x̃||
∫ t

0

exp(−γ2(t− τ)) dτ ≤ λi
γ2

||x− x̃||, i = 1, ..., n, ->�96.

|yn+1 − ỹn+1| ≤ λn+1

∫ t

0

dτ

∫ z0

0

n+2∑
h=1

|xh(ζ, τ), τ)− x̃h(ζ, τ), τ)| dζ,

|yn+1 − ỹn+1| exp(−γ1z0 − γ2t) ≤

λn+1

∫ t

0

dτ

∫ z0

0

e−γ1(z0−ζ)−γ2(t−τ)
n+2∑
h=1

e−γ1ζ−γ2τ |xh(ζ, τ), τ)− x̃h(ζ, τ), τ)| dζ ≤

λn+1||x− x̃||
∫ t

0

dτ

∫ z0

0

e−γ1(z0−ζ)−γ2(t−τ) dζ ≤ λn+1

γ1γ2
||x− x̃||, ->�9@.

|yn+2 − ỹn+2| ≤ λn+2

∫ t

0

n+2∑
h=1

|xh(z0, τ), τ)− x̃h(z0, τ), τ)| dτ,

|yn+2 − ỹn+2| exp(−γ1z0 − γ2t) ≤
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λn+2

∫ t

0

e−γ2(t−τ)
n+2∑
h=1

e−γ1z0−γ2τ |xh(z0, τ), τ)− x̃h(z0, τ), τ)| dτ ≤

λn+2||x− x̃||
∫ t

0

e−γ2(t−τ) dτ ≤ λn+2

γ2
||x− x̃||. ->�98.

$���
�� ->�96.(->�98. �
"��

||y − ỹ|| ≤
(

n∑
i=1

λi
γ2

+
λn+1

γ1γ2
+
λn+2

γ2

)
||x− x̃||, ->�:=.

2 �������% ��� y = Ax 
� � ��������
�� 
� γ1 ��	 γ2 ��� �������	 ��� � ��∑n
i=1 λi + λn+2

γ2
<

1

2
,
λn+1

γ1γ2
<

1

2
.

$�% � � � ����� 
� ���"�	�

*��% �������
�� �� �����
�� ��� 	��
"�	 ���� 2 � 5�

%
	
���	" � $�	�� ��� ���� ���������� �� 2 � 5% 
�
∑n

j=1 rmj ≥ 0 ����

∂s

∂z0
(z0, t) ≥ 1. ->�:5.

������ &���
	�� � � 
������� �1���
��

∂s

∂z0
(z0, t) = 1 +

∫ t

0

n∑
j=1

rmj(X(s(z0, τ), τ), s(z0, τ), τ)
∂s

∂z0
(z0, τ) dτ.

&���
	�� �
���	
� ������� �� �������
"� ������
���
���� ;� ����� #� ����
��(
∂s

∂z0

)
0

(z0, t) = 1

��	 	�����
��
(

∂s
∂z0

)
1
(z0, t)

(
∂s

∂z0

)
1

(z0, t) = 1 +

∫ t

0

(
n∑

j=1

rmj
∂s

∂z0

)
0

(z0, τ) dτ.
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�� ����
��
�� 
� � 
� ������ �� �#��
� �� 
�!�
�� ��1����� �� ������
���
��
�����
��� � 
� ��� ��� ���� � �� 5 ��	 �� 
� � � �����
���

%
	
���	" � $�	�� ��� ���� ���������� �� 2 � 5% 
�
∑n

j=1 rmj ≥ 0 ����
��� ���������
��
�� 	� ��� 
��������%

������ &���
	�� � � � �������
��
�� z = s(z1, t) ��	 z = s(z2, t)% � ���
z2 > z1� 2 ��%

s(z2, t)− s(z1, t) =

∫ z2

z1

∂s

∂z0
(z0, t) dz0 ≥ z2 − z1 > 0.

%
	
���	" � $�	�� ��� ���� ���������� �� 2 � 5% 
�
∑n

j=1 rmj ≥ 0 ����
Xi ��� �� 	�����
��	 �� �����
�� �� z, t�

������ 2 � �����
�� z = s(z0, t) ��� #� 
�"����	 ��	 �
"�� z0 = s−1(z, t)�
2 �������%

xi(z0, t) = xi(s
−1(z, t), t) = Xi(z, t).

%
	
���	" � $�	�� ��� ���� ���������� �� 2 � 5% 
� Fi ≥ 0% ϕi ≥ 0 ����

Xi ≥ 0. ->�:7.

������ &���
	�� �1���
�� ->�79. ��	 ��� �
���	
� ������� �� �������
"� ��(
����
���
��� �
� (Xi)0 = ϕi�

%
	
���	" $ $�	�� ��� ���� ���������� �� 2 � 5

n∑
i=1

fi = 1 ⇔ ∂u

∂z
=

n∑
i=1

rmi. ->�:9.

������ &���
	�� �1���
�� ->�8.1% ����
���� 
� ����� �� �����
�� "����� fi

fi = ϕi/ρi +

∫ t

0

(rmi − fi
∂u

∂z
) dτ, i = 1, ..., n, ->�::.

� ���
n∑

i=1

ϕi/ρi = 1,
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�
��� ϕi/ρi% i = 1, ..., n% ��������� � � 
�
�
�� "����� �����
���� $���
��
->�::. �
"��

n∑
i=1

fi =

n∑
i=1

ϕi/ρi +

∫ t

0

(

n∑
i=1

rmi −
n∑

i=1

fi
∂u

∂z
) dτ, ->�:>.

'����% 
�
∑n

i=1 fi = 1%

0 =

∫ t

0

(
n∑

i=1

rmi − ∂u

∂z
) dτ, ∀t,

��	 ����� 	
0�����
��
�� �
� ������� �
� ������� �� t
n∑

i=1

rmi =
∂u

∂z
. ->�:A.

&��"������% ��	��  ���� ��
� ->�:A.% � � �����
��
∑n

i=1 fi = 1 
� � � ��
1��
�����
�� �� 
������� �1���
�� ->�:>.�

%
	
���	" � $�	�� ��� ���� ���������� �� 2 � 5% 
� Fi ≥ 0% ϕi ≥ 0 ����

0 ≤ fi ≤ 1. ->�:6.

������ ��	��	% fi% i = 1, ..., n% ��� ���
�
"� #������ �� ->�:7. ��	 ���� � �� 5
�
���

∑
i fi = 1�

0��� ������� ����"�����

2 � ���� #���	��� �"����
�� 
� ��"����	 #� �1���
�� ->�A.% ����
���� ���
���"��
����%

L̇(t) = u(L(t), t)− σ(L(t), t), L(0) = L0, t > 0. ->�:@.

�� ����
��	 ����
��% 
� σ = 0% �1���
�� ->�:@. ��	���� �� � � � �������
��
� ��

�
�
�� ��
�� z0 = L0

s(L0, t), ->�:8.

��	 � � ���#���  �� #��� ���"�	 
� $�� >�7�7� *��% �� ����
	�� σ ≥ 0� �
���
��� �������
�� 
� σ =��������×L2� �� � 
�  ���� ��
� � � ��� ����
(
��� ���#��� 	����
#�� #
����� 	���� ����% ���� �� #
����� 	�� �� � ��� ��
����� 
���

������ � �� � �  ���� ���� �� &�������� 5  ��	 ��	 σ ,
�� 
�� ����
�����

|σ(L, t)− σ(L̃, t)| ≤ λ|L− L̃|. ->�>=.
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��� ��� �
�� t 	����� #� z0(t) � � 
�
�
�� ��
�� �� � � � �������
��
� � ���� 
L(t)

L(t) = s(z0(t), t). ->�>5.

'����%

L̇(t) =
∂s

∂z0
(z0(t), t)ż0(t) +

∂s

∂t
(z0(t), t) =

∂s

∂z0
(z0(t), t)ż0(t) + u(L(t), t).

->�>7.
���� ->�:@. ��	 ->�>7. 
� ������� � ��

∂s

∂z0
(z0(t), t)ż0(t) = −σ(L(t), t), ->�>9.

��	% �
��� ∂s/∂z0 ≥ 1%
ż0(t) ≤ 0. ->�>:.

2 �������% � � ������� �� � � ���� #���	��� 
� ��� ��
�� 
� ��� ������ � ��
� � ������� �� � � � �������
��
� ����� � � ���� ��
��� $
��� � 
� ���� 
� ����
���� 
�
�
���� �� ��� ������	� � �� L(t) 
� ��� ������� � �� � � � �������
��
�
�� �1���
�� ->�:8.� 2 � �����
�� Xi ��� z ≤ s(L0, t) 
� ������ $� �� ��� ���

� �� �#��
� � � ���� #���	���% �� � ��� #�����

���� ->�:@.

L(t) = L0 +

∫ t

0

u(L(τ), τ) dτ −
∫ t

0

σ(L(τ), τ) dτ, ->�>>.

��	 ����
	��
�� ->�8.2

L(t) = L0 +

∫ t

0

dτ

∫ L(τ)

0

n∑
j=1

rmj(ζ, τ) dζ −
∫ t

0

σ(L(τ), τ) dτ. ->�>A.

2 � �����
�� ����� ��� �����
�� 
�B C([0, T ])% �
� ����

||L(t)|| = sup
[0,T ]

exp(−γt)|L(t)|, γ ���
�
"� ��������. ->�>6.

&���
	�� � � ��� L1 = BL% C([0, T ]) → C([0, T ]) 	�!��	 #�

BL = �
� �( ��	 �
	� ��(5.56) ->�>@.

��	 ���"� � �� B 
� � ��������
"� ���� ��	��	%

L1 − L̃1 =

∫ t

0

dτ

∫ L(τ)

L̃(τ)

n∑
j=1

rmj(ζ, τ) dζ −
∫ t

0

[σ(L(τ), τ)− σ̃(L(τ), τ)] dτ.

->�>8.
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$���
��

M = max |
n∑

j=1

rmj(z, t)|, 0 ≤ z ≤ s(L0, t), 0 ≤ t ≤ T, ->�A=.

�� ���

|L1 − L̃1| ≤ (M + λ)

∫ t

0

|L(τ)− L̃(τ)| dτ, ->�A5.

|L1 − L̃1| exp(−γt) ≤ M + λ

γ
||L− L̃||, ->�A7.

||L1 − L̃1|| < ||L− L̃||, ->�A9.


� γ 
� �������	 ������� � �� M + λ�

0���* �
$�������

�
�!�� ����� 	����	� �� ����
����B � � ��#�������� �� � 
� ����
�� � �

�H����� �� ��#������� �� #
�!�� ����� 
� ����
	���	 ��	 
� 
� ������	

rmi = rmi(z, t,X,S), ->�A:.

� ��� S(z, t) = (S1(z, t), ..., Sm(z, t)) ��	 Sj(z, t) 	������ � � ����������
��
�� ��#������ j% j = 1, ..., m�

2 � 	
0��
�� �� ��#������� 
� ��"����	 #� � � �1���
��

∂Sj

∂t
−Dj

∂2Sj

∂z2
= rSj(z, t,X,S), 0 < z < L(t), 0 < t ≤ T, j = 1, ..., m,

->�A>.
� ��� Dj 	������ � � 	
0��
"
�� ���F�
��� ��	 rSj(z, t,X,S) � � ���"��(
�
�� ���� �� ��#������ j� 2 � ������
�� 
�
�
��(#���	��� ���	
�
��� �
�� #�
�����
���	 �� �1���
�� ->�A>.

Sj(z, 0) = Sj0(z), 0 ≤ z ≤ L0, j = 1, ..., m, ->�AA.

∂Sj

∂z
(0, t) = 0, Sj(L(t), t) = SjL(t), 0 < t ≤ T, j = 1, ..., m, ->�A6.

Sj0(L0) = SjL(0), Sj0(0) = 0. ->�A@.

������ rSj ,
��� 
�� ����
����� �
� ������� �� S% X ��	

Sj0 ∈ C1([0, L0]), SjL ∈ C1([0, T ]). ->�A8.



+� "��#� ��
���  �$��
�� �% �����#�$(���)�# �������
� �*��� � @6

)�	�� � �  ���� ���� �#�"� � � �����
�� �� ������ ->�A>.(->�A@. ��� #� ��(
������	 
� ����� �� 
������� �1���
��� #� ��
�� ����� ������� �� � �  ���
�1���
�� 
� ������� ���
��� C59>D

Sj(z, t) =

∫ L0

0

Sj0(ζ)N(z, ζ, t) dζ +

∫ t

0

Djwj(τ)N(z, L(τ), t − τ) dτ

+

∫ t

0

SjL(τ)[N(z, L(τ), t − τ)L̇(τ)−DjNζ(z, L(τ), t− τ)] dτ

+

∫ t

0

dτ

∫ L(τ)

0

rSj(ζ, τ,X(ζ, τ),S(ζ, τ))N(z, ζ, t−τ) dζ, j = 1, ..., m, ->�6=.

wj(t) =

∫ L0

0

S ′
j0(ζ)G(z, ζ, t) dζ + 2

∫ t

0

ṠLj(τ)G(L(t), L(τ), τ) dτ

+2

∫ t

0

dτ

∫ L(τ)

0

rSj(ζ, τ,X(ζ, τ),S(ζ, τ))Nz(L(t), ζ, t− τ) dζ

+2

∫ t

0

Djwj(τ)Nz(L(t), L(τ), t− τ) dτ, j = 1, ..., m, ->�65.

� ��� � � ������
�� �����
���  �"� #��� 
����	���	

K(z, t) =
exp(−z2)/4Djt√

4πDjt
, N(z, ζ, t− τ) = K(z− ζ, t− τ) +K(z + ζ, t− τ),

->�67.

wj(t) =
∂Sj

∂z
(L(t), t), G(z, ζ, t−τ) = K(z−ζ, t−τ)−K(z+ζ, t−τ). ->�69.

$������ ->�6=.(->�65. ��	 ->�9=.(->�99. ���� #� ����
	���	 �
�������(
�����% �
��� � �� ��� �������� ��������	 #� � � ����
�� ����� rSj ��	 rmi� ��
�
���	
� ������� �� �������
"� ������
���
���% � �� ��� ���"�	 
� ���
��� 2 �
�����
�� ������
���
��� ��� � � �����
���B

ϕi(z), S0j(z), L0, 0 ≤ z ≤ L0. ->�6:.

)�
�� ->�6:. 
� ������ ->�9=.(->�99. �
��	� ������
���
�� �����
��� ��� Xi

��	 L(t)% � 
� ��� �������	 
� ������ ->�6=.(->�65. �� !�	 Sj � 2 ��% � �
������� 
� �������	�

<� ������% ������ ->�A>. ��� #� ���"�	 �����
�����% �� 
� � � ������� 
�
������
�� ����
���
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1�, ������' ��'' ��3�� �� )+'��#"����# ���4'&

���&�����

+�� ����
��� ��	���
�� �� #
�!��� ����� ��� ������
"��� ��������	 	��(

�� � � ���� 	���	��� ������
����% ��� 	
0����� ������� �� ��	���  �"� #���
	�"�����	B ����
���� ��	���% ���� ����� �� ��� C579% 57:% 59:% 59AD% ��	
	
0�����
��(	
������ ��	���% ���� C596% 59@D� �� ��
��
����% ��� �	� �� ����
�(
�
��� ��� ��
�� ��� #� ���	 �� 	��
"� ���������
� �1���
��� ���� � � ��	��(
��
�� 	����
��
�� �� � � �������� ����� C59=D�

)������% �� 
�
�
�� ������� � 
������ 
� #
�!�� ����� 
� ������	 ��	
� � ������
�� �� ����� �	 ���� ����� 
� ��������	% !�� >�: -�.% -�.� *�"��� �(
����% � 
� #
����
��� ������� ��� ���� ��"���� 	��� �� ���� �% �
��� 
� 	����	�
�� ���� ������� ��� �� � ��
��� ��	 � ��
��� � �������
��
�� �� ��#�������%
����
��� ����������
��%  �	��	����
� ���	
�
��� ��	 ����������
�� �� �����(
���
� #�����
� 
� � � #���� 2 �������% � � ������
�� �� ����� �	 ���� ����� 
�
"��� 
�������� 
� ��"
��������� 
�	����
�� ����
���
�� ��� ���������� �����(
����% 
� ����
����� 
� � � �����(�� �� !��	(����� ��������� ���������

�� � 
� ����
�� 
� ��������	 � 1���
���
"� ������
� �� � ��� ����
��� ��	��
��� � � ����� �	 ���� ����� 
� ���
����
�� #
�!�� ������
��� 2 
� #
����
���
������� 
� 	����
#�	 #� � ���� #���	��� ���#��� ��� ����
����  ����#��
�
�1���
��� � ��� � � 
�
�
�� #
�!�� � 
������ 
� ����� 2 
� ���#��� 
� 	
0��(
��� ���� �
�
��� ���� #���	��� ���#���� ��� #
�!�� ����� % �
��� � � ����
#���	��� 
� � �����(�
�� �
��� ���� ������% �� !��
�
��� 
�
�
�� ���	
�
��� ���
#
����� ����������
��� ��	 #
�!�� � 
������ ��� ��1�
��	� ;� ���� ���	 ��
���� � � ����������
��� �� #
����� 
� � � #��� �
1�
	 ��	 � � #
����� H��
���� #��� �
1�
	�

2 � �#3���
"� �� � 
� ����
�� 
� � � 1���
���
"� ������
� �� �����
��� ��	
�� �������
�� �� � � ���� #���	���� 2 � ��� ����
��� ��	�� 
� 
����	���	
��	 � � �������� ���� #���	��� ���#��� 
� 	����
#�	� 2 � 	
0�����
�� �1��(
�
��� ��� ���"����	% 
��� �� �1�
"����� ������ �� ?������� 
������� �1���
����
$�#��1������% �� ��
������ ��	 ��
1������ � ����� 
� ���"�	 #� � � �����
���
!��	 ��
�� � ����� ��	 ��
��#�� ��
� ��	 ������ 2 � �������
�� �� ����(
�
��� ��� ����
��	� �� �
�� #� � ��� � �� � � �����
��� ��� ���
�
"� ��	 � �
��� �� �����
�� "������ 
� �1��� �� 5� �� �		
�
��% 
� 
� ���"�	 � �� � � ����
#���	��� 
� �� 
������
�� �����
�� �� �
���

0� �� ���������"�� ��������� �) ������� "��� �����

&���
	�� � � 
�
�
�� � ��� 
� ���(	
����
���� ����
����
�� #
�!�� ����� �
,�� fi(z, t) #� � � "����� �����
�� �� � � �
���#
�� ����
�� i%

∑n
i=1 fi = 1% ρi
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� � �������� 	���
��% Xi = ρifi(z, t) � � ����������
�� �� � � �
��������
��
i% X = (X1, ..., Xn)% rM,i(z, t, Xi) � � ����
!� ����� ����% u(z, t) � � "����
��
�� � � �
���#
�� ����% L(t) #
�!�� � 
������� �� �		
�
��% 	����� #� σ(t) � �
#
����� H�� ���� #��� �
1�
	 �� #
�!��� 2 
� 
� � � ���� ���	 ���"���
���
<� � � �� ��  ��	% 
� �� �����
�� 	�!�
�
�� 
� �	����	% �� 
� C59AD% σ(t) ����
#� �������	 #� −σ(t) ��	 ���������� � � #
����� H�� ���� #
�!�� �� #���
�
1�
	�

2 � 
�
�
�� ����� ������� ��� ����
����
�� #
�!��� 
� ��� ����� 	
����
��
��� #� 	����
#�	 #� � � ������
�� ���� #���	��� ���#���

∂

∂t
Xi(z, t) + u(z, t)

∂

∂z
Xi(z, t) = ρirM,i(z, t,X)−Xi(z, t)

∂

∂z
u(z, t), ->�5.

∂

∂z
u(z, t) =

n∑
i=1

rM,i(z, t,X), 0 < z ≤ L(t), t > 0, ->�7.

L̇(t) = u(L(t), t) + σ(t), t > 0, ->�9.

� ��� i = 1, ...n� �1���
��� ->�5.(->�9. ��� 	��
"�	 ���� � � ���� #������ ���
� � �
���#
�� ����
�� �� 
� C579% 57:% 59AD� 2 � ������
�� #���	��� ���	
�
���
�
�� #� �����
���	 �� ������ ->�5.(->�9.

Xi(L(t), t) = ψi(t), u(0, t) = 0, σ(t) ≥ σL > 0, L(0) = 0. ->�:.

&��	
�
�� ->�:.1 ������ � �� � � #
����� ����������
��� �� � � #
�!��
#���	��� ��� � � ���� �� � � #��� �
1�
	� 2 �������% � �� ��� � � #���	���
���	
�
��� 
� � 
� ����
!� ���#���% ��� ��� � �� ��� ����� ����	 
�
�
��
���	
�
��� 
� � ������� ��� ����
��� �������� �1���
�� ->�:.2 
� � �� H��
���	
�
�� #������ ��#������� ��	 #
�!���

�
���� >�5B ���� #���	��� ���#����

2 � � �������
��
�� z = z(t) �� ������ ->�5. ��� 	�!��	 #� ∂z/∂t = u�
$
��� � �� ���� 	����	 �� � � 
�
�
��
�� ��
�� (L(t0), t0)% !�� >�5% �� �
��
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��� � � �����
�� z = c(t0, t)� 2 ��% � � � �������
��
�� ��� 	�!��	 #� � �
������
�� 
�
�
�� "���� ���#���

∂

∂t
c(t0, t) = u(c(t0, t), t), c(t0, t0) = L(t0). ->�>.

&��	
�
�� ->�:.3 ������
���� ����� � �� � � 
�
�
�� ���"� 
� ��� � � ����(
���
��
�� �� ��
�� � � �����
���

G(z, t,X) =
n∑

i=1

rM,i, Fi(z, t,X) = ρirM,i −XiG, ->�A.

������ ->�5. 
� ����
���� �� �������B

d

dt
Xi(c(t0, t), t) = Fi(c(t0, t), t,X(c(t0, t), t)), 0 ≤ t0 ≤ t ≤ T, ->�6.

��	 ����� 
�������
�� �"�� (t0, t)

Xi(c(t0, t), t) = ψi(t0) +

∫ t

t0

Fi(c(t0, τ), τ,X(c(t0, τ), τ)) dτ. ->�@.

,�� �� ��� ����
	�� �1���
�� ->�7.

∂

∂z
u(c(t0, t), t) = G(c(t0, t), t,X(c(t0, t), t)). ->�8.

'����%

∂u

∂t0
(c(t0, t), t) =

∂u

∂z

∂c

∂t0
= G(c(t0, t), t,X(c(t0, t), t))

∂c

∂t0
(t0, t),

��	
∂u

∂τ
(c(τ, t), t) = G(c(τ, t), t,X(c(τ, t), t))

∂c

∂τ
(τ, t), 0 < τ ≤ t0.

��������
�� �"�� (0, t0) �
��	�

u(c(t0, t), t) =

∫ t0

0

G(c(τ, t), t,X(c(τ, t), t))
∂c

∂τ
(τ, t) dτ, ->�5=.

�
��� u(c(0, t), t) = u(0, t) = 0�
&���
	�� �1���
�� ->�9.

L̇(t0) = u(L(t0), t0) + σ(t0) = u(c(t0, t0), t0) + σ(t0), ->�55.
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��	 ��� ->�5=.

L̇(t0) = σ(t0) +

∫ t0

0

G(c(τ, t0), t0,X(c(τ, t0), t0))
∂c

∂τ
(τ, t0)dτ. ->�57.

'����%

L̇(θ) = σ(θ) +

∫ θ

0

G(c(τ, θ), θ,X(c(τ, θ), θ))
∂c

∂τ
(τ, θ)dτ, 0 < θ ≤ t0,

��	% ����� 
�������
�� �"�� (0, t0)%

L(t0) =

∫ t0

0

σ(θ) dθ +

∫ t0

0

dθ

∫ θ

0

G(c(τ, θ), θ,X(c(τ, θ), θ))
∂c

∂τ
(τ, θ)dτ.

->�59.
&���
	�� �1���
�� ->�>.

∂

∂θ
c(t0, θ) = u(c(t0, θ), θ), c(t0, t0) = L(t0), t0 < θ ≤ t.

��������� �"�� (t0, t)

c(t0, t) = L(t0) +

∫ t

t0

u(c(t0, θ), θ) dθ,

��	 ��� ->�5=.

c(t0, t) = L(t0) +

∫ t

t0

dθ

∫ t0

0

G(c(τ, θ), θ,X(c(τ, θ), θ))
∂c

∂τ
(τ, θ)dτ. ->�5:.

�
0�����
��
�� �� ->�5:. �
� ������� �� t0 ��	 ���� �
���� ���
�����
���
�
��	

∂

∂t0
c(t0, t) = σ(t0) +

∫ t

t0

G(c(t0, θ), θ,X(c(t0, θ), θ))
∂c

∂t0
(t0, θ)dθ. ->�5>.

2 � 	
0�����
�� ������ ->�>.% ->�6.% ->�55. 
� �1�
"����� �� � � 
�������
������ ->�@.% ->�59.% ->�5:.% ->�5>.� ��	��	% 
� � �����
�� ��
��� ��� � � 
�������
������% � 
� ��� #� 	
0�����
���	 ��	 � � 	
0�����
�� ������ 
� ����"���	�

�� � � ���� ������� #
����
��� ������� � � �����
�� rM,i ��� ���� 	����	
�� ��#�������� 2 
� 	����	����  �� #��� ��
���	  ���% �
��� 
�������
�� 
�
� � ��� ����
��� ���#��� 	
������	 
� � 
� �����
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0� �� /������� ������

&���
	�� � � ������
�� ���
�
���

xi(t0, t) = Xi(c(t0, t), t), x(x1, ..., xn), ->�5A.

Φi(x(t0, t), c(t0, t), t) = Fi(c(t0, t), t,x(t0, t)), i = 1, ..., n. ->�56.

Φn+1(x(t0, t), c(t0, t), ct0(t0, t), t) = G(c(t0, t), t,x(t0, t))ct0(t0, t), ->�5@.

Φn+2 = Φn+1. ->�58.

�� ��
�� 	�!�
�
��� ->�5A.(->�58.% �1���
��� ->�@.% ->�59.% ->�5:.% ->�5>. ���
����
���� ��

xi(t0, t)) = ψi(t0) +

∫ t

t0

Φi(x(t0, τ), c(t0, τ), τ)dτ, ->�7=.

c(t0, t) =

∫ t0

0

σ(θ) dθ +

∫ t0

0

dθ

∫ θ

0

Φn+1(x(τ, θ), c(τ, θ), cτ(τ, θ), θ) dτ

+

∫ t

t0

dθ

∫ t0

0

Φn+1(x(τ, θ), c(τ, θ), cτ(τ, θ), θ)dτ, ->�75.

ct0(t0, t) = σ(t0) +

∫ t

t0

Φn+2(x(t0, θ), c(t0, θ), ct0(t0, θ), θ)dθ, ->�77.

L(t0) =

∫ t0

0

dθ

∫ θ

0

G(c(τ, θ), θ,x(τ, θ))cτ(τ, θ) dτ +

∫ t0

0

σ(θ) dθ, ->�79.

� ��� i = 1, ...n ��	 0 ≤ t0 ≤ t ≤ T �
*��� � �� �1���
�� ->�79. 
� ��������	 ���� ������ ->�7=.(->�77.� 2 ��%

� 
� ������ 
� ���"�	 !������ 2 ��% � � �����
�� 
� ���	 
� �1���
�� ->�79. ��
!�	 L� 2 � ������
�� � �����  ��	� ��� ������ ->�7=.(->�77.�

,��
	�� �9 ������ σ% ψi% i = 1, ..., n% ����
����� ��	 Φj ,
��� 
�� ����
�(
����

σ, ψi ∈ C([0, T ]), i = 1, ..., n, ->�7:.

|Φi(x, c, t)− Φi(x̃, c̃, t)| ≤ Li

[
n∑

h=1

|xh − x̃h|+ |c− c̃|
]
, i = 1, ..., n, ->�7>.

|Φi(x, c, ct0, t)−Φi(x̃, c̃, c̃t0 , t)| ≤ Li

[
n∑

h=1

|xh − x̃h|+ |c− c̃|+ |ct0 − c̃t0 |
]
, i = n+1, n+2.

->�7A.
2 ��% � ��� ��
��� � ��
1�� ����
����� �����
�� xi, c, ct0 ∈ C(I) �� ?�������
������ ->�7=.(->�77.% � ��� I = {(t0, t) : 0 ≤ t0 ≤ t ≤ T}% T > 0�
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'	

�9 &���
	�� � � "����� ����� S �� � � ����
����� �����
��� xi, c, ct0 ∈
C(I) �
� ����

||(x, c, ct0)|| =
n∑

i=1

max
I
e−γ1t0−γ2t|xi(t0, t)|+max

I
e−γ1t0−γ2t|c(t0, t)|+max

I
e−γ1t0−γ2t|ct0(t0, t)|,

� ��� γ1 ��	 γ1 ��� ���
�
"� ���������� ,�� (y, C, Ct0) = A(x, c, ct0) #� � �
��� 	�!��	 #� � � �1���
��� #����

yi(t0, t)) = ψi(t0) +

∫ t

t0

Φi(x(t0, τ), c(t0, τ), τ)dτ, ->�76.

C(t0, t) =

∫ t0

0

σ(θ) dθ +

∫ t0

0

dθ

∫ θ

0

Φn+1(x(τ, θ), c(τ, θ), cτ(τ, θ), θ) dτ

+

∫ t

t0

dθ

∫ t0

0

Φn+1(x(τ, θ), c(τ, θ), cτ(τ, θ), θ)dτ, ->�7@.

Ct0(t0, t) = σ(t0) +

∫ t

t0

Φn+2(x(t0, θ), c(t0, θ), ct0(t0, θ), θ)dθ, ->�78.

� ��� i = 1, ...n ��	 0 ≤ t0 ≤ t ≤ T � ������ #� (ỹ, C̃, C̃t0) = A(x̃, c̃, c̃t0)
��	 ����
	�� �1���
�� ->�76.

|yi(t0, t))− ỹi(t0, t))|e−γ1t0−γ2t

≤ Li

∫ t

t0

[
n∑

h=1

|xh(t0, τ)− x̃h(t0, τ)|+ |c(t0, τ)− c̃(t0, τ)|
]
e−γ1t0−γ2τe−γ2(t−τ)dτ.

'����%

|yi(t0, t))− ỹi(t0, t))|e−γ1t0−γ2t ≤ Li||(x, c, ct0)− (x̃, c̃, c̃t0)||/γ2, ->�9=.

i = 1, ..., n� &���
	�� �1���
�� ->�7@.

|C(t0, t))− C̃(t0, t))|e−γ1t0−γ2t ≤ Ln+1

∫ t0

0

dθ

∫ θ

0

[
n∑

h=1

|xh(τ, θ)− x̃h(τ, θ)|

+|c(τ, θ)− c̃(τ, θ)|+ |cτ (τ, θ)− c̃τ (τ, θ)|] e−γ1t0−γ2τe−γ1(t0−τ)e−γ2(t−θ)dτ

+Ln+1

∫ t

t0

dθ

∫ t0

0

[
n∑

h=1

|xh(τ, θ)− x̃h(τ, θ)|+ |c(τ, θ)− c̃(τ, θ)|

+|cτ (τ, θ)− c̃τ (τ, θ)|] e−γ1t0−γ2τe−γ1(t0−τ)e−γ2(t−θ)dτ.
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'����%

|C(t0, t))− C̃(t0, t))|e−γ1t0−γ2t ≤ 2Ln+1||(x, c, ct0)− (x̃, c̃, c̃t0)||/(γ1γ2). ->�95.

&���
	�� �1���
�� ->�78.

|Ct0(t0, t))− C̃t0(t0, t))|e−γ1t0−γ2t ≤ Ln+2

∫ t0

0

[
n∑

h=1

|xh(t0, θ)− x̃h(t0, θ)|

+|c(t0, θ)− c̃(t0, θ)|+ |ct0(t0, θ)− c̃t0(t0, θ)|] e−γ1t0−γ2τe−γ2(t−θ)dθ.

'����%

|Ct0(t0, t))− C̃t0(t0, t))|e−γ1t0−γ2t ≤ Ln+2||(x, c, ct0)− (x̃, c̃, c̃t0)||/γ2. ->�97.

���� ->�9=.(->�97. 
� ������� � ��

||(y, C, Ct0)− (ỹ, C̃, C̃t0)|| ≤ p||(x, c, ct0)− (x̃, c̃, c̃t0)||,
� ���

p =
1

γ2

n∑
i=1

Li +
2

γ1γ2
Ln+1 +

1

γ2
Ln+2.

�� � � ���
�
"� ��������� γ1, γ2 ��� � ���� ����� ����� % � �� p < 1 ��	
A 
� � ��������
"� ���� $�% � � � ����� 
� ���"�	�

%
	
���	" �9 )�	�� � � ����  ���� ���� �� 2 � 5 � � �����
�� L ∈
C([0, T ])�

'	

�9 $�� �1���
�� ->�79.�

0� � ���
���� �� )��� $�
����� ���$���

2 � 
������� ������ 
� $��� >�9�7 ���"
	�� � � �����
�� ��� � � #
����� ���(
�������
��� 
� � � ����

Xi = Xi(c(t0, t), t), i = 1, ..., n, ->�99.

� ����� � � ��
�
��� ���#��� ��1�
��� � � �����
�� 
� � � ����

Xi = Xi(z, t), i = 1, ..., n. ->�9:.

$
���
z = c(t0, t), ->�9>.
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�� 
���	
����� ����
�� � �� � ���#��� �� 
�"���
�� �� � � �����
�� c �
� 
������� �� t0 ��
���� 2 
� 
���� 
� �������	 
� � � ������
��G

,��
	�� �9 )�	�� � � ����  ���� ���� �� 2 � 5% 
�

σ(t0) ≥ σL > 0, G(c(t0, t), t,x(c(t0, t), t)) ≥ 0, 0 ≤ t0 ≤ t ≤ T, ->�9A.

� ��
c(t0, t) > 0, ct0(t0, t) > 0, 0 ≤ t0 ≤ t ≤ T. ->�96.

�� �		
�
��%

L(t0) > 0, 0 < t0 ≤ t ≤ T, L̇(t0) > 0, 0 ≤ t0 ≤ t ≤ T. ->�9@.

'	

�9 ���1���
�
�� ->�96. ������ ���� � � ����
���
�� �� �
���	
� �������
�� �������
"� ������
���
��� �� 
������� �1���
��� ->�75.(->�77.� ���
�����
->�9@. ��� ���
�� 	��
"�	 ���� ->�57. ��	 ->�79.�

*��% � � �����
�� c ��� #� 
�"����	 ��	 � � �����
�� ->�9:. 
� �#��
��	�

,��
	�� �9 )�	�� � � ����  ���� ���� �� 2 � 5% 
�

ψi(t0) ≥ 0, Fi(c(t0, t), t,x(c(t0, t), t)) ≥ 0, 0 ≤ t0 ≤ t ≤ T, ->�98.

i = 1, ..., n% � ��

xi(t0, t) ≥ 0, 0 ≤ t0 ≤ t ≤ T, i = 1, ..., n. ->�:=.

'	

�9 ���1���
�� ->�98. ������� ���� � � ����
���
�� �� �
���	
� ������� ��
�������
"� ������
���
��� �� 
������� �1���
��� ->�7=.�

&���
	�� 
������� �1���
�� ->�@. ����
���� 
� ����� �� �����
�� "������
fi = Xi/ρi

fi(c(t0, t), t) = ψi(t0)/ρi +

∫ t

t0

(rM,i − fiG) dτ, i = 1, ..., n. ->�:5.

$
��� ψi(t0)/ρi% i = 1, ..., n% ��������� � � 
�
�
�� �����
�� "������% �� ����
������

n∑
i=1

ψi(t0)/ρi = 1. ->�:7.
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*��% �� ������ � �� � � ���� ���	
�
�� 
� ���
�!�	 #� � � ��� �� �����
���
fi �� ��� �
��

f(c(t0, t), t) =
n∑

i=1

fi = 1 ∀t. ->�:9.

2 
� ������ �
�� #� ���"�	 
� 2 � :�

,��
	�� �9 )�	�� � � ����  ���� ���� �� 2 � 5% 
�  ���� ��
� ->�:7.
 ��	�% � �� ���	
�
�� ->�:9. 
� ���
�!�	�

'	

�9 $���
�� ->�:=. �� i ��	 ��
�� ->�:7. �
��	�

f(c(t0, t), t) = 1 +

∫ t

t0

G(1− f) dτ, 0 ≤ t0 ≤ t ≤ T, ->�::.

�
� 
�
�
�� ���	
�
��
f(c(t0, t0), t0) = 1. ->�:>.

2 � 
�
�
�� "���� ���#��� ->�::.(->�:>.  �� � � ��
1�� �����
�� f = 1�
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1�. ���'�!���' #+'���� �� +���! ���4'&

0�*�� ������
"����

�������
�� ��� �������
� ���
"
��  �� �����
#���	 �� ����� 
�#������� 
� � �
������� ������ �����% ���	
�� �� ���
��� ��"
��������� ���#����� ��	����
��
���������� �����
�
�� �������  �� �����
#���	 �� � 
� ������ 
�#������ C598D�

$������ ��� #� ����"�	 ���� ����������� #� � ��
��� ����
�
���
�� ��
	����
���
�� ��������� #�� ��  
� ������ �
����
��� ��� �	� ��� � � ����"��
�� ������� ���� ���������� ��������� �� �������
"� ��������
"��

� "��
��� �� ��������  �"� #��� ����
�	 ��� #
����
��� ��������� �� �������
�
� ���������� ��� �� #��� �������� C578D% #�E�	 �������� C5:=D ��	 ���(
�
�� �������� C5:5% 5:7D � �� 
�"��"� ������	�	(����� #�����
�� �� � � ����
����� #
����
��� ������� ��	��
�� ���������  �"� #��� 	�"�����	 � �� 
�"��"�
� #�����
�� #
����� ����� �	 �� � ��	
� -#
�!��.% 
��� !��	 #�	 �������� ��
H�
	
��	 #�	 �������� C5:9D� 2 � ��"
��������� ���
����
�� ��������� � ��
��� � #�����
�� #
����� ����� �	 �� � ��	
�  �"� ��������� #��� �������	 ��
�� !��	(����� ����������

)�	�� ������#
� ���	
�
��� 	
��
�
������ ������� ��	��
�� #�����
� -$/�.
��� ������� �� � ����
��� �������� �������� ��� � � 	����	��
�� �� �����
�
�������	� C5::D� �� � 
� ������#
� ������� ������� 
� ��	���	 �� ���!	� #�
� � ���
�� �� $/� � 
�  �"� � � �#
�
�� �� �����
�� � � ��
	��
�� �� �����
�
������ -�������� 	����. �� � � ��	���
�� �� ������� -�������� ��������. ��	
	����	 ��  �	�����
� ��	 ���������
"� #�����
� � �� 	����	� ������� �����
�
������ C5:>D�

2 � �	"������ �� #�����
� 	
����
�� 
� #
�!�� 
� "��� 
�������� 
� ��(
"
��������� 
�	����
�� ����
���
��� 2 � #�����
� 
� #
�!�� 	
0������� ����
������	�	 #�����
� ������ #� ��� �	 ��� �
� � � ����� H��� 2 
� ������ ��
����
� � � #
����� �
� 
� � � ������� ��	 � ������� �� ������� �� � �����  �(
	����
� ������
�� �
�� -'/2.� 2 � #�����
�� #
�!�� ������ �� �� 
�"�  
� ��
#
����� ����������
�� 
� #
���������% ��	 ������ � � ����� �� #�����
� 
�
#
�������� �����
��� � ��� � �
� ���	 ����
�� �#��	���� ���� ��� ��
� � ��(
�����
��
�� �� #
�!��� �0�� ����� �	"������� 
� ��"
��������� ����
���
���B
���
������ �� ���
�
���#
�� ������ ��	 ������
�� 
� #
�!�� �� ��"���� #����(
�
�� ����
��� 2 � ���
������ �� ���
�
���#
�� ������ ������ � #����� ���
������
�� #�����
� � �� ��	��
��	 
� 
#
�
�� ������ ���� � � ���������� ���������
����� -� ��� ���	
��.� 2 � ������
�� 
� #
�!�� �� ��"���� #�����
�� ����
��
������ �� ����� 	
0����� �����
� ��	 
������
� ��#������� �� � � ���� �
���
�
����
��� ������� ��	���
�� 
� ������#
� !��	 ����� ��������  �� #��� 
�(
"���
����	 ������
"��� �� ��#(������ �� ����
�����% 
� ��� ��
���	 ��� � ��
� � ������
�
�� �� � � �
���#
�� ������
�� 
�H������ � � ����������� ��	
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���#
�
�� �� � � �"����� #
����
��� ������� ��	��
�� ������� C5:AD�
2 � ��	�� �������	 
� � 
� ����
�� 
����	�� ������� ��	���
�� #� ���(

����� ��	 
��������� ������� ��	��
�� #�����
�G COD ����"�� #� ������� ��(
	���
�� ��	 #� ��������
� #�����
�G ������� ��������
�� "
� ��� ��������
�
C5:A% 5:6% :D� 2 � #
�� ��
��� ��� ��
��� � 
� �������� � � ������
�
��
#������ � ��� ���� 
� ������ ����
�� 
� ������#
� !��	 ����� �������� ���
��"��� ����� ��
�� ������ �������� 2 ��% ���� �� ������� 
� ���	�	 �� �����
� � �0��� �� 	
0����� ������� ���	
�
��� �� � 
� ������
�
�� ��	 �� 	�!��
������� ��
���
� �� ��"�� � � 	��
����� �� ��� ����
�� �"�� � � �� ��� +�� �(
���
��� ��	��� �
��	 �� �
�����
�� � � #
�� ��
��� ������� ���"�
�
�� 
� ��
������#
� !��	 ����� ������� � ���	 #� ������	 �� �����
������ ���	
�� 
�
��	�� ��B 
. �		���� � � ��#������� �����
������ �����	���G 

. �� ���� � �
	��
�� ��	 ������
�� �� � � ��������� ������� C55ADG ��	 


. ���
�
�� � � ��(
����� ������� ������� ��
���
� C5:7D� �� � 
� ���	� � ��� ����
��� ��	�� ���
	�"�����	 �� 	����
#� � � #�����
�� ������
�
�� 
� ������� ��	��
�� #
�!����

2 � �#3���
"�� �� � 
� ���	� 
����	�B

• �� ������� � ��� ��� ����
��� ��	���
�� ������� �� ���	� �������
��
	����
�� ������
�
�� #������ ������� ��	��
�� ��	 ������� 	����	
��
#�����
� 
� #
�!���G

• �� ������� � ��� �����
��� ������� �� ���"� � ����
����
�� #
�!��
��	��G

• �� 	����
#� ��#������ 	����
��% 
��� ���� ��������� �� ��#������� ��	
� �
� �
���#
�� ���"���
��% � 
� ���� ����� �
� 
� � � #
�!���

0�*�� ���������"�� �����

2 � 	����
�� �� � #
����
��� ������� ��	��
�� #
�!�� ��� 	
������	� � ��
���%
� ��
��� ��	 #
����
��� �����
��� ��������� ��� �������	� 2 � �
���
�� ��
�
���#
�� ����� ��	 	���� ��� ��	����	� 2 � ��	�� ����
	��� � � �
���
��
�� � ��� �
���#
�� ����
��B �������� ��
	
����  ��������� 
� $/� -X1.% � 
� 
���������� ��
	
�� ������� �� CO2% 
��������� ��
	
����  ��������� 
� $/�
-X2.% � 
� ��
	
�� ������� �� �������% ������� 	����	��� -X3.% ��	 � ���
�����
�� ���������� -��#������� ��	 ���	����.B ������� -S1.% ������� -S2.%
������� -S3.% !�� >�7� 2 � ������� 
� ���	 ��� � � ������� ��
	��
�� #� ��������
��	 
��������� $/�� 
���� ���
	��� -X4. ��� ���� ����� 
��� ��������

2 � ��	��
��	 ������
�� �� ������� ������ � � 	�"�������� �� ������� 	�(
���	��� � 
� ������� ��� ����� 
� � � #
�!�� �
� �������� ��	 
���������
 ��������� 
� $/��
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Products

Lactate

(S1)

HSRB
(C)

(X1)

Sulfate

(S2)

HSRB
(I)

(X2)

Acetate

(S3)

Acetate degraders

(X3)

Organism species

Substrates

Inerts

(X4)

�
���� >�7B +�
� ��� ���� �� #
����
��� �������

2 � #
�!�� ����� 
� ��"����	 #� � � ������
�� �1���
��� C579% 59AD%

∂Xi

∂t
+
∂

∂z
(uXi) = ρirM,i(z, t,X,S), 0 ≤ z ≤ L(t), t > 0, i = 1, 2, 3, 4 ->�:A.

∂u

∂z
=

3∑
i=1

rM,i(z, t,X,S), 0 < z ≤ L(t), t > 0, ->�:6.

� ��� Xi = ρifi(z, t) 	������ � � ����������
�� �� � � �
���#
�� ����
��
��	 
���� ���
	��� i = 1, 2, 3, 4% fi "����� �����
�� �� �
���#
�� ����
�� i%∑4

i=1 fi = 1% ρi � � �������� 	���
��% u(z, t) � � "����
�� �� � � �
���#
��
���� 	
���������� �
� ������� �� � � #
�!�� ������� 
��������% Sj(z, t) � �
����������
�� �� ��#������ j = 1, 2, 3% rM,i(z, t, Xi, Sj) � � #
����� ����� 
����% L(t) � � #
�!�� � 
������% X = (X1, X2, X3, X4) ��	 S = (S1, S2, S3)�

�� �		
�
��% � � #
����� ����� ����� ��� �
"�� #�B

rM,1 = μmax,1X1
S1

K1,1 + S1

S2

K2,1 + S2

− bm,1X1, ->�:@.

rM,2 = μmax,2X2
S1

K1,2 + S1

S2

K2,2 + S2
− bm,2X2, ->�:8.

rM,3 = μmax,3X3
S3

K1,3 + S3
− bm,3X3, ->�>=.

� 
�� ��� 
���� ���
	���

rM,4 = bm,1X1 + bm,2X2 + bm,3X3, ->�>5.
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�� �% �����#�$(���)�# �������
� �*��� � 5==

� ��� μmax,i 	������ � � ���
��� ��� ����� ���� ��� #
����� i% Ki,j � �
 ���(�������
�� �������� �� ��#������ j ��� #
����� i% bm,i � � 	����(
����
"��
��(
���� ����������
�� ��� #
����� i�

2 � 	
0��
�� �� ��#������� 
� ��"����	 #� � � �1���
���

∂Sj

∂t
−Dj

∂2Sj

∂z2
= rS,j(z, t,X,S), 0 < z < L(t), 0 < t ≤ T, j = 1, 2, 3, ->�>7.

� ��� Dj 	������ � � 	
0��
"
�� ���F�
��� ��	 rS,j(z, t,X,S) � � ���"���
��
���� �� ��#������ j� 2 ��� ��� ��������	 #�

rS,1 = −μmax,1

Y1
X1

S1

K1,1 + S1

S2

K2,1 + S2
− μmax,2

Y2
X2

S1

K1,2 + S1

S2

K2,2 + S2
,

->�>9.

rS,2 = −1.5
(1− Y1)μmax,1

Y1
X1

S1

K1,1 + S1

S2

K2,1 + S2

−1.5
(1− Y2)μmax,2

Y2
X2

S1

K1,2 + S1

S2

K2,2 + S2

, ->�>:.

rS,3 =
(1− Y2)μmax,2

Y2
X2

S1

K1,2 + S1

S2

K2,2 + S2
− μmax,3

Y3
X3

S3

K3 + S3
, ->�>>.

� ��� Yi 	������ � � �
��	 ��� #
����� i�
2 � ������
�� 
�
�
��(#���	��� ���	
�
��� �
�� #� ����
	���	 ��� �1���
���

->�5.% ->�:6. ��	 ->�>7.

Xi(z, 0) = ϕi(z), u(0, t) = 0, 0 ≤ z ≤ L0, 0 < t ≤ T, i = 1, 2, 3, 4, ->�>A.

Sj(z, 0) = Sj0(z), 0 ≤ z ≤ L0, j = 1, 2, 3, ->�>6.

∂Sj

∂z
(0, t) = 0, Sj(L(t), t) = SjL(t), 0 < t ≤ T, j = 1, 2, ->�>@.

∂S3

∂z
(0, t) =

∂S3

∂z
(L(t), t) = 0, 0 < t ≤ T. ->�>8.

2 � �����
��� ϕi(z), i = 1, ..., n, ��������� � � 
�
�
�� ����������
���� &��(
	
�
�� ->�>A.2 ������� ���� � � �����
��� 
� gi(0, t) = u(0, t)Xi(0, t) �� � �
#
����� H�� �� z = 0� 2 � �����
��� Sj0(z) ��������� � � 
�
�
�� "����� ��
��#�������� 2 � �����
��� SjL(t) 
� ->�>@.2 ��� � � "����� �� ����������
���

� � � #��� �
1�
	�

2 � ���� #���	��� �"����
�� 
� ��"����	 #� � � ������
�� ��	
���� 	
0��(
���
�� �1���
��

dL

dt
(t) = u(L(t), t), ->�A=.
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�
� 
�
�
�� ���	
�
��B
L(0) = L0, ->�A5.

� ��� L0 	������ � � 
�
�
�� #
�!�� � 
������� �1���
�� ->�>8. 
� 	��
"�	 ����
� � ������� �1���
�� �� ���� #���	��� #� ����
�� � � #
����� H�� σ = 0�

�� ��
������ ��	 ��
1������ � ����� ��� � � ���� #���	��� ���#��� ->�5.(
->�A=. ��� ���"�	 
� C59AD ��	�� 1�
�� �������  ���� ����� �� �		
�
��% �
���#�� �� �������
�� ��� �����
��� ��� � ���� *����
��� ��� �	� �
�� #�
	
������	 
� � � ������
�� ����
���

0�*� 7
����"�� �������

2 � 1���
���
"� ������
� �� ������ ->�5.(->�A=. 	�"�����	 
� C59AD ��� #���	
�� � � ��� �	 �� � �������
��
��� 2 � ������� �������� � �� � 
� ��� �	 ���
#� ���� ���	 
� � � �����
��� ������
�� �� � 
� ����
�� �� � �� � �� � �
��� �	 ��� #� ����
�	 "��� ���
��� �� �		
�
��% 
� 
� ���� ������
"� � ��
�� �� ��� �	� ��	 ������ �� �� ������� ��������
���� ������
� �� �����
���
#
�!�� ��������� "��� �F�
������

2 � � �������
��
�� �� ������ ->�5. ��� � � �
��� z = s(s0, t) 	�!��	 #�

ṡ(s0, t) = u(s(s0, t), t), s(s0, 0) = s0, 0 ≤ s0 ≤ L0, t > 0. ->�A7.

�� 
����	��
�� � � � �������
��
�� ��	 ��
�� � � �����
���

G =
4∑
i

rM,i = G(z, t,X,S), ->�A9.

Fi = ρirM,i −XiG = Fi(z, t,X,S), ->�A:.

������ ->�5.(->�:6. 
� ����
���� ��

∂u

∂s
(s, t) = G(s, t,X,S), 0 < s ≤ L(t), t > 0, ->�A>.

Ẋi(s(s
0, t), t) = Fi(s(s

0, t), t,X,S), i = 1, 2, 3, 4, t > 0, ->�AA.

&���
	�� �1���
�� ->�A7.� ��������
�� �1���
�� ->�A7. �"�� (tn, tn+1) �
��	�

sn+1
m − snm =

∫ tn+1

tn

u(s(snm, τ), τ) dτ, ->�A6.

� ��� snm = s(sm, tn)� &���
	�� �1���
�� ->�A>.� ��������
�� �"�� (snm, s
n
m+1)

�
��	�

u(snm+1, tn)− u(snm, tn) =

∫ snm+1

snm

G(s, tn,X,S) ds. ->�A@.
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&���
	�� � � ���� #���	��� �1���
�� ->�>@.� ��������
�� �"�� (tn, tn+1) �
��	�

L(tn+1)− L(tn) =

∫ tn+1

tn

u(L(τ), τ) dτ. ->�A8.

���� ������% 
�������
�� �1���
�� ->�AA. �"�� (tn, tn+1) �
"��

Xi(s(s
n
m, tn+1), tn+1)−Xi(s(s

n
m, tn), tn) =

∫ tn+1

tn

Fi(s(s
n
m, τ), τ,X,S) dτ.

->�6=.
�� $��� >�7�7% �1���
��� ->�A6.(->�6=. �
�� #� 
��������	 #� ��
�� � ����� (
��	�� /����(U���� ��� �	� 2 � H��(� ��� 
� 
���������	 
� !�� >�9�

&���
	�� 	
0��
�� �1���
�� ->�>7.� �
�
�� 	
0������ ��� �	� ��� ����#��
�
�1���
��� ��� #� ���	% ���� C5:@D� /����� !�
�� 	
0������ ��� �	� 
����	���	

� C5:8% 5>=D ����	 ���� #� �����
����	 
� ������ 7� ��	 9� ����
���
���� ��
$��� >�7�7% 
� � � ������	 ����� ��� �	 �
�� #� ���	 ��	 �� �#��
�

Sn+1
j,m = Sn

j,m +
Δt

(Δz)2
(Sn

j,m−1 − 2Sn
j,m + Sn

j,m+1) + ΔtrnS,j,m, ->�65.

� ���
rnS,j,m = rS,j(mΔz, nΔt,Xn

m,S
n
m). ->�67.

0�*�* ,��
��� ��� ���"
�����

0�*�0 ���
������ ��� �8 �&�"� �) ��� COD/SO2−
4 �����

�� ��� $��-�� �
�)��� ����+�� ���)�����"��

��������� "����� ���	 ��� � � �
�����
���

2 � ��� ����
��� ��	�� �������	 
� � 
� ����
��  �� #��� ����
�	 ��
�
������ � � ������� ��	���
�� ������� 
� � #
����
��� #
�!�� �
� �� 
�
�
��
� 
������ �� 7 ��� 2 � 
�
�
�� ���	
�
��� ��	 #
����
��� ���������� �	����	

� � � �
�����
��� ��� �������	 
� ��#�� >�5� ?����� �� � � �
���
� ����������%
���
� 
�����
� ���������� ��	 ���� �������� ���F�
���� �����	
�� �� C5:7D
��	 C5>5D ���� ���	 ������ ��� ������� ���� �������� ���F�
��� � 
� �������	
���� � � �����	��� �������	 #� C5>7D�

�� ����
���
�� �� ���
�
��� ������� �� C5>9D% � � ��������� 	
0��
�� ��(
�F�
���% ����
�� 
� ����� Dw ��	 ����� 
� #
�!�� Df % ��� 	�����
��	� 2 �
������� ��� #� 	����
#�	 �� �������B

Dw = 7.4× 10−8 (ϕbMb)
0.5T

μbV 0.6
a
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�
���� >�9B ����(� ���

� ��� ϕb 
� ���"��� �����
��
�� ��������� -7�A ��� �����.% Mb ���������
��
� � �� ���"��� -5@ � ��� �����.% T �#������ ����������� -��������	 
�
U.% μb ���"��� �#������ "
����
�� -=�67=@ �� ��� ����� �� 35oC.% Va ������(
��� "������ �� ������ �� �
1�
	 �� 
�� ������ #�
�
�� ��
�� (cm3mol−1)� 2�
�#��
� � � 	
0��
�� ���F�
���� 
� #
�!��% � � 	
0��
�� ���F�
���� 
� �����
���� ����
��
�	 #� � ������ �� =�@ �� ������� � � �		
�
���� 	
0��
�� ���
������

� � � #
�!�� C5>:D�

2 � �������	 "����� �� ��������� 	
0��
�� ���F�
���� 
� dm2 ��� day
��� �������% ������� ��	 ������� ��� 0.00732 (dm2/d)% 0.00980 (dm2/d) ��	
0.00835 (dm2/d) �������
"����

�
��� >�: ��	 >�> � �� � � ������� �� ��	�� �
�����
��� ��������	 ��
������ � � COD/SO2−

4 ���
� �0��� �� � � ������� ������������ 
� ����� ��
"����� �����
��� �� #�����
� ��	 ����������
�� ����	� �� ��#������� 
� #
�!��
��� � =�> 	��� �
�� �
�����
��� COD/SO2−

4 ���
��% 
� � � ����� =�57>(5 ����

�"���
����	�

$���
�� ��	 "�������
� �����
��� �� #�����
� ����
�� 
� � � #
�!��

�
����� � � 
�H����� �� � � COD/SO2−
4 ���
� �� � � #�����
� ���"�
�
��


� � � #
�!�� ��� ���	
�	� 2 � �
������	 !�� ���������� �� ���� 	
0�����
COD/SO2−

4 ���
�� ��� � ��� 
� !�� >�:� 2 
� !���� 
�	
����� �  
� ��������
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��������� ��	� ��� � ��� � ��� � ��� �

*�� *
���������
� �*��l−1 ��� ��� ���# ����#

���+��� *
���������
� �l−1 ��� ��� ��� ���

)�
� ��
�����
� � �� �� �� ��

������� (�
,�
 ����-���� 

 � � � �

������� .
��
� $�����
� 
+ ��( / ��� ��� ��� ���

������� .
��
� $�����
� 
+ ��( / ��� ��� ��� ���

������� .
��
� $�����
� 
+ 0� / ��� ��� ��� ���

������� .
��
� $�����
� 
+ ����� / ��� ��� ��� ���

2�#�� >�5B <�����
���� ���������� ���	 ��� ��	�� �
�����
���� $�� 5
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↓ Sum
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1.5

�
���� >�:B �0��� �� � � COD/SO2−
4 ���
� �� � � "�������
� �����
�� ��

� � #�����
�� ����
�� 
� #
�!��� �B COD/SO2−
4 I5% �B COD/SO2−

4 I=�>% &B
COD/SO2−

4 I=�7>% �B COD/SO2−
4 I=�57>

�� ������� 	����	��� �� � � 
���� ����� �� #
�!�� � ����� $/� ��� 	��
����
�"�� ������� 	����	��� �� � � ������� ����� �� #
�!��� �� 
� 
�������
�� ��
���� � �� � � ���� �� ������� 	����	��� 
� � � #
�!�� #������ #���	�� ��
	������
�� COD/SO2−

4 ���
��% !���� >�: & ��	 �� 2 
� ������ �
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